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The following Table-I shows the sales (in ¥ crore) of Ice-cream in India during the six years from
2018 to 2023 and Table-II shows the percentage market share of various companies in the sale of
Icecream in the year 2020. Based on the data in the tables, answer the questions that follow.

Table-1 : Year-wise Sale Details of Ice-Cream (in ¥ Crore).

s Ice-Cream Sale
(in Crore)
2018 7500
2019 8200
2020 8500
2021 8000
2022 8500
2023 9500

Table-II : Company-wise Percentage Market share in the Ice-Cream Sale in 2020

Baskin

Company | Amul |Wadilal| . | Wama |Kwality | Others
: Robbins '

Percent Share| 28% | 13% 10% 6% | 35% 8%

Sub questions

Question Number : 1 Question Id : 53307218817 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the difference between the sales of Amul and Warna in 2020 ? (in ¥ crore)
(1) 1804

(2) 2380
(3) 1870
(4) 1760
Options:
1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 53307218818 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the average annual rate of increase in the Ice-Cream sale in 2023 in comparison to the year
2018 ?

() 533 %

(2) 2667 %

(3) 6.67 %

4) 10%

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 53307218819 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the percentage market share of companies remains the same in 2021 as that in 2020, then what
is the increase/decrease in the turnover of Amul from 2020 to 2021 ?

()

(2) %140 crore decrease
(3)

(4)

< 175 crore increase

% 175 crore decrease
¥ 140 crore increase

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 53307218820 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the sale of Wadilal increases by 38 % from 2020 to 2023, and the percent sale of other companies
accordingly stands reduced then what would be the market share of Wadilal in 2023 ?

1) 175%
Q) 18%

() 1694 %
() 1605 %

Options :
1.1
2.2
3.3



4.4

Question Number : 5 Question Id : 53307218821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The market share of companies in 2023 is same as in 2020. In 2024, the ice-cream sale increases by
10 % but the market share of Amul falls to 23 %. What is the percentage change in the turnover of
Amul from 2023 to 2024 ?

(1) 964 % increase
(2) 9.64 % decrease
(3) 17.86 % increase
(4) 17.86 % decrease

Options:
1.1
2.2
3.3
4.4

Question Id : 53307218816 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
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Sub questions

Question Number : 1 Question Id : 53307218817 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o 2020 § ST TR oA A farsht < s o1 SR foha1 (TFUS W) B2

(1) 1804

(2) 2380
(3) 1870
(4) 1760
Options :
1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 53307218818 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a 2018 F qoF H T4 2023 W MW W Fi Tkt # i et 9fig e €2
(1) 533 %

(2) 26.67 %
(3) 6.67 %
(4) 10 %
Options :

1.1

2.2

3.3

4.4

Question Number : 3 Question Id : 53307218819 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 53307218820 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 2020 9 2023 T AT 2 fohl H 38 % g B & IR 974 A 2 Woue fooh H g
9 &, @ ad 2003 % STl % A SR foe g

(1) 175%

2 18%
() 169 %
() 1605 %
Options :
1.1

2.2

3.3

4.4

Question Number : 5 Question Id : 53307218821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.1

2.2

3.3
4.4
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Question Number : 6 Question Id : 53307218822 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the steps of the cycle of self regulated learning in logical order ?
A) Setting goals
B) Regulating learning

D) Analysing the task
E) Devising plans
Choose the correct answet from the options given below :

0 E), (D) (B), (A) (©

(
(
(C) Enacting Tactics and Strategies
(
(

(2)  (B), (C), (E), (D), (A)
(3) (D) (A), E), (©) (B)
4) (A) (E), ©), (B), D)
Options

1.1

2.2

3.3

4.4

Question Number : 6 Question Id : 53307218822 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o -fafafiad SIferTy <15k o eI 1 dlfcheh ohH H ool i
(A) @& TAifa e

(B) aferm fafvafaa s

(C) fFar sir TorHifat T= #0m

(D) T7gd =/ = fagerao HE

(E) A IR AT

<= fou T faeredi § | W& S % =AA Hifod

(1) (E), (D), (B), (A), (C)

(2)  (B), (O (E), (D), (A)
(@) (D) (A), (E), (O (B)
(4) (A), (E), (Q), (B), (D)
Options :
1.1

2.2



3.3
4.4

Question Number : 7 Question Id : 53307218823 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When the content that we have previously learned interferes with the recall of something newly
learned then the interference is :

(1)  Retroactive Inhibition

(2) Proactive Inhibition

(3) Attention Inhibition

o

Response [nhibition

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 53307218823 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o TR B Vel v e o i < i v et o e fer el s € 9% S g
g

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 53307218824 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Anna sits at her kitchen table and is able to think about what she needs to buy from the grocery
stores. She is using her ability to:

(I) Recognise
(2) Recite
(3)  Recall
( A

4)  Memorize

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 53307218824 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 ST T R B S TR e U e 2 ¢ 1 30 feR e A T S A e
T & | 9 A A 7 T fwfefen & fu @ g

(1) T

(2) g
(3) A
(4) FoWF
Options:
1.1

2.2

3.3

4.4

Question Number : 9 Question Id : 53307218825 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The contents of Swayamprabha Channel-11 with the theme of “Social Sciences and Humanities’
are provided by :

(1) CEC, New Delhi
(2) IGNOU, New Delhi
(3) T, Delhi

(4) T, Madras

Options :
1.1



2.2
3.3
4.4

Question Number : 9 Question Id : 53307218825 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g1 o7 - 11 %1 5 form iR sfo ' o @ e s frwrfi gm0 soere #E S

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 53307218826 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a biology class, a teacher wants to conduct a formative assessment to gauge students
understanding of cell structure and function. Which of the following tools would be most effective
for creating interactive quizzes with immediate feedback ?

(A) Google forms

(B) Adobe [llustrator

(C) Kahoot

(D) Audacity

(E) Camtasia

Choose the correct answer from the options given below :
() (B), (C) and (E) Only

(2) (A), (©), (D) and (E) Only
(3) (A)and (C) Only

(4) (B), (D) and (E) Only
Options :

1.1

2.2



3.3
4.4

Question Number : 10 Question Id : 53307218826 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(A) Tl

(B) T TR

) #E

(D) el (efae)

(E) Wl

e feu o ot W @ W@ I A T e
(1) %A (B), (C) R (E)
(2) 9 (A), (C), (D) 4R (E)
(3) A (A) IR (C)

(4) (B, (D) 3 (B
Options :

1.1

2.2

3.3

4.4

Question Number : 11 Question Id : 53307218827 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following represents the epistemological orientation of qualitative research ?
(1) Deductivism

(2) Positivism

(3)  Objectivism

(4) Interpretivism

Options :
1.1
2.2



3.3
4.4

Question Number : 11 Question Id : 53307218827 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefa & § SF ToTeTE e & FEEEERE Afifem e w g2

(1) e

(2) HHHAS

(3) famafear
(4) SAEAER

Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 53307218828 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In many studies that span along period of time, participants in the study may leave. This constitutes
which of the following threats to internal validity ?

(I) Testing

(2) Instrumentation
(3) Mortality

(4) Maturation
Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 53307218828 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T o aer o W wee ol 3R R oo o wevrh ol W § 1 %R ol v ¥ ot
fepetfefim @ #19- Wfaw §7

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 53307218829 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct order of the following nformation about a research article, according to the

APA style of writing journal article references.

(A) Volume number

(B) Year of publication

(C) DOL

(D) Title of article

(E) Name of journal

Choose the correct answer from the options given below :

M) (©) (D) (B) (A) (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 53307218829 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



i o fere 1 T e % SR, 9 o & R H ffafed SRR % T8 6 wEE
(A) HEHEA

(B) TV A

(C) & o

(D) @ 1 wivF

(E) e & AW

A fou U ferhedl o | W 3 A T
() (©), (D), (B), (A), (E

) (®) (D) (E) (A) (©
() D) (E) (), (B) (©
(4) D) (&) (), (A), (B)
Options :

1.1

2.2

3.3
4.4

Question Number : 14 Question Id : 53307218830 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the continuous variables.
(A) Number of tails obtained in hundred tosses of a coin

(B) Weight of students in a school

(C) Marks scored by students in an objective type examination
(D) Height of plants in an agricultural field

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (C) and (D) Only
(3) (A)and (C) Only
(4) (B) and (D) Only
Options:

1.1

2.2

3.3

4.4



Question Number : 14 Question Id : 53307218830 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qad =7 1 JedH S

(A) Tordl TR 1 T 91 R 380! SH 9 9T 92 hl SE&AT
(B) Tordt fagarem # fagafdi &1 o=
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(1) <9 (A) 3R (B)

(2) %= (C) ¥R (D)

(3) FE (A) IR ()

(4) 9 (B) 3R (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 15 Question Id : 53307218831 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[denlify the non-parametric tests used in statistical arlal}rsis.
(A) Chi-square test

(B) U-test
(C) H-test
(D) t-test

Choose the correct answer from the options given below :
(I) (A) and (B) Only
(2) (B) and (C) Only
(3) (©) and (D) Only
)

(4) (A) and (D) Only
Options :

1.1

2.2

3.3



4.4

Question Number : 15 Question Id : 53307218831 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gifersa faverao § ygaa sTam=rel 9iervi 1 qe=H Fifer ;
(A) HE - A GHE

(B) ¥ - &
(C) TH - e
(D) & - Tdiem

= feu U fawed °§ 9 WEr 3 =9 FH I
(1) ad (A) 3R (B)

(2) haa (B) R (C)
(3) A (C) 3R (D)
(4) FaA (A) 3R (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 16 Question Id : 53307218832 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A cartoon is of :

(1) High definition
(2) Low definition
(3) Neutral definition

(4) Negative definition

Options:
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 53307218832 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T Bl €

(1) = gl I

) T e

(3) HEAH Tl
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Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 53307218833 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The period of time when a communication network becomes inoperative, is referred to as :
(1)  Time fit

2
3
4

(2) Uptime
(3) Downtime
(4) Loadtime
Options:
1.1

2.2

3.3

4.4

Question Number : 17 Question Id : 53307218833 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

grarafy foad §9r Jeas faferg 8 5 & 59 9efia 9 © -

(1) =rEm e
(2) 9 <I=H
(3) SIS drgH
(4) S A

Options:

1.1

2.2

3.3



4.4

Question Number : 18 Question Id : 53307218834 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following concepts are related to mass communication ?
(A) Global village

(B) Medium is the message

(C) The extension of man

(D) Pop culture prophet

Choose the correct answer from the options given below :
(1) (A), (D) Only

() (A), (B) and () Only

(3 (B), (C) and (D) Only

(4) (A)and (B) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 18 Question Id : 53307218834 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafga § § @9 9 deegd 5@ 99r 9 defum €2
(A) dIfvees am
(B) AW WM
(C) WHA faEr
19 HEFfd A el
A= feu 7o foepedl o 9 W& I = = S
(1) < (A), (D)

(2) %9 (A), (B) TR (C)
(3) %9 (B), (C) ¥R (D)
(4) FAA (A) SR (B)
Options :

1.1



2.2
3.3
4.4

Question Number : 19 Question Id : 53307218835 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As a mode of communication, drama has four forms from the western perspective. They are :
(A) Tragedy

(B) Comedy

(C) Serious drama
(D) Melodrama

(E) Character drama

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D) Only

(2)  (B), (C), (E) Only
(3) (A)(C), (D), () Only
(4)  (A), (B), (D), (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 19 Question Id : 53307218835 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR goretl % &9 H, ufyeed g  eE FER R g9 €
(A) Sl

(B) WeEA

(C) TR Ae®

(D) =fd e

(E) =Rk Ak

i< feu T fashedi H | Wa 3L 1 TG HifeU
(1) = (A), (B), (O), (D)

(2) = (B), (O), (E)

(3) @ (A), (O), (D), (B)

(4) = (A), (B), (D), (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 20 Question Id : 53307218836 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[denlify the correct ch_rnnnlngica] sequence of the fn]lnwing 3
(A) Launch of Twitter

(B) Launch of Facebook

(C) Appearance of social network sites
(D) Launch of Spuinik

(E) “War of the worlds’ broadcast

Choose the correct answer from the Dptinns given below :

(L) (A) (©), (B), (E), (D)

2 (B), (D), (C), (B), (A)
(3)  (B), (B), (D), (A), (C)
4) (©), (B), (A), (D), (E)
Options :

1.1

2.2

3.3



4.4

Question Number : 20 Question Id : 53307218836 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafea =1 9t FeArshHe el i o Y
(A) T2oeX &1 Ry

(B) THHEH H HRH
(C) IfSre =Zerk g2y =1 SAffavie
(D) TIATTF SR

i

(E) '9R 1% &1 doed’ dieHe

e feu U faspedl O ¥ W& 39 F 9949 Hifo
(1) (A) (©), (B), (E), (D)

@ (E), (D) (©), (B), (A)

(3) (B), (E). (D), (A), (C)

4) (©), (B), (A), (D), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 53307218837 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Three successive discounts of 15 %, 20 % and 40 % on the marked price of an item are equivalent
to a single discount of :

) 5%

) 408 %
) 592 %
) 675 %



Question Number : 21 Question Id : 53307218837 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fereil o o Sifohd Ted T AR FHIE T2 15 %, 20 % T 40 % o FHHH Thet 922 7
1) 7%

() 408 %
(3) 59.2 %
(4) 67.5%
Options :
1.1

2.2

3.3

4.4

Question Number : 22 Question Id : 53307218838 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

15 men working 8 hours per day complete a piece of work in 18 days. To complete the same work
in 6 days, working 12 hours a day, the number of men required will be :
) 24 men
) 26 men
3) 28 men
) 30 men
Options :
1.1
2.2

3.3
4.4

Question Number : 22 Question Id : 53307218838 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

15 ST fafeet 8 e % ek 18 ol & 0 W 0 0 1 3H AW A 6 fe § e F fow yfeen
12 %21 %W T, ot SR 1 vl g ?

(1) 24 il 3

(2) 26 SRfl A

(3) 28 Sl &l

(4) 30 smwh Al

Options :



1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 53307218839 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the next term in the series.....
275, 7Y7, 14X9, 23W11, 34V13, (?7)

(1) 27024
(2) 45U15
(3) 47U15
(4) 47U14
Options :
1.1

2.2

3.3

4.4

Question Number : 23 Question Id : 53307218839 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

71 sj@ren # 3Ter 9 3 e
275, 7Y7, 14X9, 23W11, 34V13, (?)
(1) 27024
(2) 45U15
(3) 47U15
(4) 47014
Options :
1.1

2.2

3.3

4.4

Question Number : 24 Question Id : 53307218840 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain coding language, if the word "TREND’ is coded as ‘QUBQA’, then the word ‘STRAY’
will be coded as.

() PVPDV

(2) PWPDW

(3) PWODV

(4) QWPEW

=y

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 53307218840 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T fAf¥an Fecia 9§ 92 ‘TREND’ #1'QUBQA’ 8 Ffed o 911 &, 7@ T2 STRAY' 1 2
caf

(1) PVPDV

() PWPDW
(3 PWODV
(4 QWPEW
Options:
1.1

2.2

3.3

4.4

Question Number : 25 Question Id : 53307218841 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A person travels from X to Y at a speed of 30 km/hr and returns from Y to X by increasing his
speed by 50%. His average speed during the journey is :

(1) 375 km/hr

(2) 37 km/hr

(3) 36 km/hr

(4) 38 km/hr

Options :
1.1
2.2



3.3
4.4

Question Number : 25 Question Id : 53307218841 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T e 30 fope,/sien 1 fa B X Y 9 A T € R 50% At v F Y W X 7 g o |
1 o SR Sh Sir Il P e 2

(1) 375 ot o
(2) 37 ol /d
(3) 36 foll. /4
(4) 36 foll. /4
Options :
1.1

2.2

3.3
4.4

Question Number : 26 Question Id : 53307218842 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[dentify the fallacy committed in the statement given below :

“People who lack arrogance are intelligent because intelligent people do not have arrogance”
(1) Equivocation

(2) Fallacy of division
(3
(

)
) Begging the question
g

Fa]la.c;yF of composilion

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 53307218842 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



friferfaa o § aehe & TeEE
o T H SR T B, o SfgHE I © TR SfHA el W SRR el el |
1) SR

(

(2) farEdm
(3) e 3y
(4) Hefadm
Options :

1.1

2.2

3.3

4.4

Question Number : 27 Question Id : 53307218843 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following propositions is contrary to the proposition. “All cows are herbivores” ?

(1) All herbivores are cows.

3
4)  No cows are herbivores.

2)  Some cows are herbivores.
) Some cows are not herbivores.

(
(
(

Options:
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 53307218843 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freforfea # | S ot giaafa fF et 7 wermert St €' = s €2
1) |t IR T €

2) Tl T ST B € |

3) T M IEER T B ¢ |

4) I TT YRR T A )

Options :
1.1

(
(
(
(



2.2
3.3
4.4

Question Number : 28 Question Id : 53307218844 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent ?
(A) All cows are herbivores.

(B) All herbivores are cows.

(C) Some herbivores are cows.

(D) No cows are non-herbivores.

Choose the correct answer from the options given below :
(I) (A) and (B) Only

(2) (B) and (D) Only

(3) (B) and (Q) Only
4) (A) and (D) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 28 Question Id : 53307218844 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafad & & -8 Hu difdhes gfte & THqe §2
(A)  [off T wITeRTRTY e € |

(B) Wl MRS T4 =ld 2 |

(C) o IMFTERT T B 2 |

(D) T2 A TR eRE e ol ¢ |

=1 feu 1o faskedi § ¥ W I & =99 Hifad
(1) <9 (A) 3R (B)

(2) I (B) $R (D)

(3) = (B) 3R (Q)

(4) A (A) #R (D)



Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 53307218845 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following propositions cannot both be false, though they can both be true ?
(A) All cows are herbivores,

(B) No cows are herbivores.

(C) Some cows are herbivores.

(D) Some cows are not herbivores.

Choose the correct answer from the options given below :

(1) (A)and (D) Only

@ (0 and (D) Only
(3) (B) and (C) Only
@

4) (A)and (C) Only
Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 53307218845 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frerfetfie wfamfiae o 3§ M o < wfeafiest o T @ e, wes § 5 Wl @ ga £
(A) T T IR B

) I T VTR T B &
C) @@wﬁwrﬂa‘m%
(D) ¥ T TR Tl el ¢
%ﬁqwﬁwﬂﬂﬁqﬁrwwwﬁm:
(1) A) 3 (D)
( ) SR (D
(3) ) ¥ (C
(4) A) 3 (C)

% &% 9 g

(=]

(
{
(
(4)

EREI

1

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307218846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to dlassical Indian Philosophy the source of knowledge based on cognition of an object,
similar to another one which is already known to the cognizer is known as :

(1) Sabda

(2) Pratyaksa
(3) Anumina
(

4)  Upamana

Options:
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307218846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307218847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following electronic technologies is the key technology for making the fourth generation
electronic computer ?

(1) Transistor based

(2) Integrated Circuit (IC) based

(3)  Vacuum Tube based

(4)  Microprocessor based

Options:
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307218847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 5 8 3 ) geraiien e aqd el % SemRen He TN o TE W ¢ 7
WEEERE R

Options :
1.1



2.2
3.3
4.4

Question Number : 32 Question Id : 53307218848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Many websites require the following to be completed :

Ll 'm not a robot.

This is an example of which data issue ?
(1) Accuracy

(2) Matching

(3) Quality

(4) Security

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 53307218848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3k derdErsel W = @ gu fee S o sevgedl B ©

Ll I'm not a robot.

I8 <21 HeHl %A H 78 1 I3 & 2

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 53307218849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[dentify the sequence of words A-E that correctly fills the blanks in the following paragraph :

is small amount of memory located on the CPU itself.
_____ is a form of ROM that is commonly used in embedded devices such as washing
machines, smart phones, etc. 15 mainly used in a PC to store the tiny OS called the
BIOS. is a storage allocation scheme in which secondary memory can be addressed as
though it were part of the main memory. is a type of very fast memory that is used to
temporarily hold data about currently running programs.
(A) ROM
(B) RAM
(C
(D
(E)  Virtual memory
Choose the correct answer from the options given below :
(1) @) © (4) E) B
2) (© (D) (A), () (B)
3) (©, (D) (B), (E), (A)
4) () (D) (4), ), (E)

) Cache memory
)

Flash memory

{
(
(

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 53307218849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1

2.2

3.3

4.4

Question Number : 34 Question Id : 53307218850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If (L)y; represents a number L in base-M number system, then which of the following numbers are
equivalent to (19),, ?

(A) (11001),

(B) (201)5

(€ (121),

(D) (1015

E) D)y

Choose the correct answer from the options given below :
(1) (A), (C) and (E) Only
(2) (B) and (D) Only

() (A) () and (D) Only
() (A),(B) (C), (D) and (E)
Options :

1.1

2.2

3.3
4.4

Question Number : 34 Question Id : 53307218850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AfesTem-M el vt # (L), § LA <o & 9 1 § | 91 5 e (19),, % T §7
(A) (11001),

(B) (201),

(C) (121),

(D) (101,

E) (B)

el feu o fomredi & 9@ W SR A T FHC
1) (A), (C) IR (B)

) % (B) R (D)

3) % (A), B) (D)

4 (A),(B) () D) I E

—— e g—

Options :
1.1
2.2
3.3



4.4

Question Number : 35 Question Id : 53307218851 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - 11
(Computer Terms) (Purpose)
(A) Motherboard (I Stores the date, time and system configuration for BIOS
(B) BIOS (I)  Allows processor and other hardware to function and
communicate with each other
(€) CMOS (IT) Transfer the contents of web pages into a web browser for
viewing
(D) HITP (IV) Initializes and tests the system hardware components and

loads an OS5 when a computer is turned on
Choose the correct answer from the options given below :
() (A, B, (CHIV), (HIL)
2)  (A){I), (B}IV), (CH), (DHI)
3) (A}, (B)-(V), (C)-(1), (D(II)
) (A

) (V) (BHI, CHID, (1)

@ |
@
@
Options :
1.1
2.2
3.3

4.4

Question Number : 35 Question Id : 53307218851 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) (A, B)-(), (OHIV), (D)

(@) (A, (B)-{V), (CHD), D))

() (AHI, B)-(IV), (C)-{D), (D)

(4)  (AHIV), (B)-(IL), (CHI, (D)-()

Options :

1.1

2.2

3.3

4.4

Question Number : 36 Question Id : 53307218852 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Kyoto protocol, how much target was fixed for the reduction of concentration of Green House
Gases (GHGs) below 1990 level, during first commitment period 2008-12 by state parties ?

(1) 10°%
Q) 52%
() 104 %
) 200°%

Options:
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 53307218852 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

e ovTcr %0 e g e et e et 2008-12 % SR 9 e i (GHGs) % e &
1990 %R § &9 11 1 oy @ fwifa fovn o2
() 10%

2 52%

(3) 104 %

(&) 200 %

Options :

1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 53307218853 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are biogas ?

(A) Marsh Gas

(B) Swamp Gas

(C) Producer Gas

(D) Compost Gas

(E) Flue Gas

Choose the correct answer from the options given below :

(1) (A), (B) and (D) Only

(2) (B), (€) and (E) Only
(3)  (A), (C) and (E) Only
(4) (©), (D) and (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 53307218853 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefafaa & & # awEg 2
(A) HE "

(B) @ ig

(C) W TE

(D) HIE TH

(E) W™

= feu U foeredi § 9 Wer SO &1 =949 Hi
(1) de (A), (B) &R (D)
(2) e (B), (C) IR (E)
(3) FaA (A), (C) R (E)
(4) %= (C), (D) ¥R (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 53307218854 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is considered to be the finest particulate matter ?
(I) Fine mode particles

(2) Neucleation mode particles

(3) Aitken mode particles

(4)  Accumulation mode particles

Options:
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 53307218854 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frfafeas § 4 fora w1 gaman HforeR ge1ed wH1 ST € 7
(1) A (gaH) Hie afésay

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 53307218855 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the fullnw'mg 15 an Example of natural climate fnrcing ?
(1) Green House Gases

(2) Volcanic erruptions
(3) Land use changes

(4) Tropospheric aerosols
Options:

1.1

2.2

3.3

4.4

Question Number : 39 Question Id : 53307218855 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafaa § @ 219 T WFfas a9 9617 F1 UF e © 2
(1) ¥UH &9 TH

(2) OTETE F EE

(3)  uff 37ErT afEdd

(4) &ivHEErE (ZITEEER) T
Options :
1.1
2.2

3.3



4.4

Question Number : 40 Question Id : 53307218856 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about Pyrolysis ?

(A) It produces less air pollution than complete incineration.

(B) It is done in the presence of oxygen.

(C) Instead of oxidation a complex series of decomposition and other chemical reactions take
place.

(D) Pyrolysis many times generates useful materials.

(E)  Pyrolysis is a high temperature thermal process, an alternative to incineration,

Choose the correct answer from the options given below :

() (4)(B)(C)and (D) Only

) (A) (0) () and (E) Orly

() (B), (C), () and (E) Only

(4) (A), (B) and (E) Only

Options :

1.1

2.2

3.3

4.4

Question Number : 40 Question Id : 53307218856 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(B) 7% e o Iuferta W o e €
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(D) 93T g S ST T S ¢
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13 fow T forrel 9 R R 9 T
(1) 9 (A), (B), (C) R (D)

() % () (C), (D) ¥R (B

(3) % (), (C) (D) ()

(4) 9 (A), (B) M (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 41 Question Id : 53307218857 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The first foreign university to set up its campus at GIFT City, Gujarat, is :
(1) London University, Britain

(2) Queen’s University, Ireland

(3) Deak in University, Australia

(4) Moscow University, Russia

Options:
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 53307218857 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



St o WE 2 5 (GIFT City), o ¥ o1 W, <o e ren ween focet fervafermera @ ¢
(1) e fovafaaed (FFameer), fae

(2) F forfemme, faed
(3) i foveifommer, smefem
(4) Wi fovfommerd, 9
Options :

1.1

2.2

3.3

4.4

Question Number : 42 Question Id : 53307218858 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The National Education Policy 2020 recommended moving towards.
(1) Suburban Universities

(2) Single discipline Universities

(3) Multi-disciplinary Universities

(4) Specialised Universities

Options:

1.1

2.2

3.3
4.4

Question Number : 42 Question Id : 53307218858 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T foen Aifa, 2020 # fFAefafea = fom o o ae7 =1 fowf #31w oF
(1) IFRE foyafaemTa

(2) UeFe-foug oot favafaered
(3) wg-foudt favafaemaa
(4) oo favafemmera
Options :
1.1
2.2

3.3



4.4

Question Number : 43 Question Id : 53307218859 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the public sector universities from the following that have the highest number of
collaboration with foreign universities.

(A) Indian Institute of Technology, Kanpur

(B) Indian Institute of Science, Bengaluru

(C) Pondicherry University, Pondicherry

(D) North-Eastern Hill University, Shillong

(E) Gujarat Vidyapeeth, Gujarat

Choose the correct answer from the options given below :
() () (8)(0 Oy

@ (B)(C) (D) Only
() (©) (D) (E) Only
(#) () (D) (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 43 Question Id : 53307218859 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A few o el o § @ I T A
(1) A (A), (B) (C)
() A () () D)
(3) ¥ (C), D) (B
(4) % (A), (D) ()
Options :

1.1

2.2

3.3

4.4

Question Number : 44 Question Id : 53307218860 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following come under the category of stand-alone professional universities ?
) Universities of Journalism
B) Law Universities
) Health Science Universities
) Technical Universities
) Homeopathy Universities

(A
(B)
(€
(D
E

Choose the correct answer from the options given below :
() (A); (B), (C) Only

() (A), (B), (D) Only

(3) (C),- (D), (E) Only

(4) (), (C), (D) Only

Options :

1.1
2.2



3.3
4.4

Question Number : 44 Question Id : 53307218860 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1

2.2

3.3
4.4

Question Number : 45 Question Id : 53307218861 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List - 1
(Commission/Committee)

) University Education Commission (1948-49)
Sanskrit Commission

(A
(B)
(C) Education Commission (1964-66)
D)

(1954)

Committee on Higher Education for Rural Areas

List - II
(Chairperson)

() D.S. Kothari

(I) K. L. Shirmali

(L) S. Radhakrishna

(IV) Suniti Kumar Chatterji

Choose the correct answer from the Dptiuns given below :

(1) (A0, (BH), (C)-(ID), (D)-IV)
(2) (A, B)-(), (©)-IV), (D)-0)
() (A)-(I), BIIV), (CHD), (DHI)
(@) AHLV), (BHD), (C-(I), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 53307218861 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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(D) (AHD, B)-(), (©)-(IL), (D)-(V)

(2)  (AHI), B)-UD, ©-1V), (D)-0)
(3)  (A)-(I), (B)LV), (C)-(I), (D)-(I)
4 (AHIV), B)-(D), (C(I), (DHII)
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1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 533072739
Question Shuffling Allowed : No

Question Id : 53307218862 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage and answer the questions given below :

Santiniketan attempted to produce a culture, which was Bengali/Indian in its construction and
approach yet significant to the modern world. In 1912, Rabindranath established an institution called
Ashram-Sammilani. It was a body of elected students with teachers in-charge to look after the functioning
of the school. Students” Unions are primarily concerned with student interest; they-or any other union,
for that matter-are formed to protect their rights against the authority’s misuse of power, There was a
court run by the elected student body. Whenever there was a complaint of any serious offence, the court
had its session with the accused in some quiet place after dinner. The Sammilani met twice a month-
once on new-moon nights, the other on full-moon nights. During Rabindranath’s long stay at Silaidaha
among the villagers he realised that only sel[—suﬂiciency, self-rule and self-respect could free our rural
population from their weakness, poverty and sense of inferiority; that it was society that should rule, not
the state imported from Europe, Srinikefan-Visva-Bharati's rural development,/ reconstruction programme
started in 1922, Rabindranath applied the principles of the co-operative movement to Sriniketan; and as
we know he applied it everywhere-equal respect for everybody, equal participation, equal distribution
of material and spiritual wealth,

Sub questions

Question Number : 46 Question Id : 53307218863 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Main aim of Santiniketan can be stated as :

(1) To spread the culture of Kolkata

(2) To completely ignore the western influences

(3) To emphasize on a culture that was Bengali/Indian yet significant to the modern world
(4)  To focus only on the traditional folk culture

Options :
1.1
2.2
3.3



4.4

Question Number : 47 Question Id : 53307218864 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Aim of Ashram-Sammilani was :

(I)  To function as a typical student union

(2) To talk about the student’s rights

(3) To look after the functioning of the school with a body of elected students and teachers
in-charge

(4)  To manage the financial situation of the institution

Options:
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 53307218865 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How often did the Ashram-Sammilani meet ?
(1) Once a year

(2) Twice a month
(3) Weekly

(4) Monthly
Options :

1.1

2.2

3.3

4.4

Question Number : 49 Question Id : 53307218866 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What did Rabindranath Tagore realize while he stayed in Silaidaha ?
(1) Only education can uplift the society.

2)  Society should rule, not the state imported from Europe.

3

4) Traditional model of governance is the best approach.

) Industrialization is the major key to prosperity.

(
(
(

Options :
1.1



2.2
3.3
4.4

Question Number : 50 Question Id : 53307218867 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What principles did Rabindranath Tagore apply to Sriniketan’s rural development program ?
(1) Centralized governance

(2) Industrial growth

(3)  Equal respect, participation and distribution of wealth

(4)  Personal growth over community welfare

Options :
1.1
2.2
3.3
4.4

Question Id : 53307218862 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Fie T ot O S ek TG U T W o A N ¢

TR U T T B < 0 I T < e o g 6 et/ e o, fe
W e ol o fom wewn o | 1912 Tty 3 SHAN- R T SR A O | T P
foere % Mot Frefers B-amal 91 Fepra o <0 Forrs o SR 1 v A 91| S T 2
fecl 1 2 T ; f R 3070 9 WA o 1 eI g e o e o fee e AR ) %
e SR 91 & | Teiferd 9 e g1 U e 1 Gl ford S o) W o) et T e
forrra 2t off, TR % Wi (o I O SR & W e 3 o o) S 6 oo
% H 2 R & ot e T B i g o 8t | fciere it 3 ot ¥ o1 o v
& ST T TR o o oA, TR i SRR @ g6 A S A S H,
Tt SR €191 % 14 T o e o, FS! 6 € S € e, o 709 § s 4 | 4 Feebe
— Tt 1 o o AT e 1922 % TR g Ty A AR § GRR efen o
fergl 1 S fren; S ST 3 2 TR €, 32 W SR o o T TR, T Seerd, sifeck &
o SPAT 1 SA formeul-er e A

Sub questions

Question Number : 46 Question Id : 53307218863 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Wi 1 @A i el 1 Wehell ¢ -

(1) hiceRT i GHTd  ToR F

) UEI TET B W SRR

3) U U Gl W AE o @ e e 2 R o snefe fava & fo wewee &
) WY @ ST WA S H B

Options :

1.1

2.2

3.3
4.4

Question Number : 47 Question Id : 53307218864 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
S9W - W 1 3299 o017
) Wl BEEE & B H FE
2) B % AR F 9 H a6 FA
) Traifea BB SR 99 el o e & @y faemed & 1 # a5
4) oE # o fegfa o1 yeeA W

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 53307218865 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

sgw AfFET F S3E a9 g o ?
(1) =4 H TH IR

(2) TEH TR

(3) wrfesh

(4) \If9EH

Options :
1.1



2.2
3.3
4.4

Question Number : 49 Question Id : 53307218866 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

facTrrge W 109 Werd & SR TeiEe | = weqd o ?
(1) foen | & gurst &1 Zeu 8 9 ¢

(2) HEN 1 ATEA S =1feq 7 foF 79 § aymEiad I |
3) ieifertmta ggfs #t 7@ e

(4) ITEA 1 WO Hiee IS IINTH 2|

—

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 53307218867 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e SR A ke % e foerg s | o fagial @ s fem o2

)
3)  HHM S, WRiER! SR O 1 fem
) HIHEIaE FHeA o WA W T ferer

Options:
1.1
2.2
3.3
4.4

Yoga
Section Id : 533072248
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory



Number of Questions : 92

Number of Questions to be attempted : 92

Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 533072740
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 53307218868 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The concepl that Purak 1s Brahma, Kumbhak is Vishnu and Rechak is Rudra, is mentioned in :
(I)  YogaKundalyopanishad

(2)  Yoga Tattvopanishad

(3)  Dhyan Bindu Upanishad

(4)  Shvetashwatar Upanishad

Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 53307218868 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ok S, T 0] Ud T 6§ e AAHR 9fvid © -
(1) & Foseanfug

(2) AN g

(3) EFferg 3UfHYg

(4) YIS UG

Options:
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 53307218869 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



“Kayadivishvati Gargah is mentioned in :
(1)  Shandilya Bhakti Sutra
(2)  Narad Bhakti Sutra
(3) Bhakiti Rasayan
(4)  Shrimad Bhagwad
Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 53307218869 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" prrfefererta T ' EfUid € -
(1) wfevey yfea g

(2) HANE wied g
(3)  Yfed TEA
4) AHgHrTEg
Options:

1.1

2.2

3.3

4.4

Question Number : 53 Question Id : 53307218870 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which of the following is mentioned that the disciple obtained knowledge [rom his Guru with the help of
Pranipal (Sutrender), service and questioning ?

(1) Bhagavad Gita 6.34

(2)  YogaSutra332

(3)  HathPradipika 4.22

(4)  Bhagavad Gita 4.34

Options :
1.1
2.2
3.3



4.4

Question Number : 53 Question Id : 53307218870 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

oo, S A TRYEH 1 Fere & s g7 T @ 7 9 T 9 4 Seard el W e &2
(1) agT 6.34

Q) A 3.3
(3) TOFCITH 422
(4) TG 4.34
Options :

1.1

2.2

3.3

4.4

Question Number : 54 Question Id : 53307218871 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Yoga Sutra, on which of the [ollowing should be kept under restraint (samyam)in order to gain the
knowledge of Human anatomy ?

(1)  Hearl

(2)  Kanthkupa

(3)  KurmaNadi

(4)  Nabhichakra

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 53307218871 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AMTYA o TR IR T 1 W 3 o fow fomd ® Hom & =nfee 2
(1) A

(2) RT3
(3) FH T
(4) YR
Options :
1.1

2.2

3.3

4.4

Question Number : 55 Question Id : 53307218872 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following said, Consciousness s the most miraculous thing of creation, its depth and pervasiveness
knows no limit ?
(1)  James Hastings
(2)  Swami Shivanand Saraswali
(3)  Dr. David Frawley
(4)  AdiGuru Shankaracharya
Options:
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 53307218872 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" T ] W T T €, S TR A T F A W T ¢ T o T ¢
(1)

() T fem ww

(3) . e Fored

(4) A 6 TR

Options :

1.1

2.2



3.3
4.4

Question Number : 56 Question Id : 53307218873 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following is one of the [amous disciples of Shri Shyama Charan Lahidi ?
(1)  Yoganand Saraswati

(2)  Niranjanand Saraswati

(3)  Paramhans Yoganand

(4)  Swami Shivanand

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 53307218873 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1 g wfee! & yiag forsdi § 9 uw ® -
(1) AT Sl

2) TAET< 9

(3) TWHEH ANTH<

4) @ REes

Options :

1.1

2.2

3.3
4.4

Question Number : 57 Question Id : 53307218874 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following gave birth to personal Psychology ?
(1) Carl Jung

(2)  Adler

(3)  Eric Fram

(4)  Abraham Maslow



Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 53307218874 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sl erer HAITESH & S & -
(1) Tl T
2) TS

3) URF wm
(4) oIEH HEA
Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 53307218875 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Principle ol emotions is :
(1)  Cannon-ward Principle
(2)  Ecological Principle
(3)  James lange Principle
(4) Both (1) and (3)

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 53307218875 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e 1 fagra § -

(1) HT-are fag
2) Witfefas fag
(3) < e fagT

@) (1) 3R 3) A

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 53307218876 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the [ollowing restraint (Samyam) resulls into the knowledge of Purvajanam according o Yoga
Philosophy ?
(1)  Sun

(2)  Moon
(3)  Star

(4)  Samskara
Options :
1.1

2.2

3.3

4.4

Question Number : 59 Question Id : 53307218876 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I T o TR Yo 1 T o1 fRE Tam w1 i € 2

1
(2) H=H
(3) di
(4) HERR
Options :
1.1

2.2



3.3
4.4

Question Number : 60 Question Id : 53307218877 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Yoga Vashishtha, which of the following is the sixth Bhumi of knowledge ?
(1) Tanumanasa

(2)  Vichima

(3)  Devoid ol Sensuality (Asansakli)

(4)  Padarthabhavna

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 53307218877 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TSNS o SATER FH i DS YW FH H 2 ?

(1) AT

2y fa=mon

(3) HEH[H
(4)  TEIIIMTEAT
Options :

1.1

2.2

3.3

4.4

Question Number : 61 Question Id : 53307218878 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the [ollowing processes helps a teacher in understanding necessary teaching methods and objectives ?
(I)  Classroom management

(2)  Lesson plan

(3)  Teaching method sources

(

4)  Teaching aids



Options :

1.1

2.2
3.3
4.4

Question Number : 61 Question Id : 53307218878 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

e d 4 o o o sears B e S fafi qon s v B gver W wer e §

F1 YA

PERIED

e fefes =
HEATH Tere: J

Options :

1.1
2.2
3.3

4.4

Question Number : 62 Question Id : 53307218879 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which ol the following diseases, Shitkar1 Pranayam is Benelicial ?

(1) Asthma

(2)  Bronchitis
(3) Colius

(4)  Arthrtis
Options :

1.1

2.2

3.3

4.4

Question Number : 62 Question Id
Correct Marks : 2 Wrong Marks : 0

: 53307218879 Question Type : MCQ Option Shuffling : No



1 o I form O o wifaerit womam SRRl € ?
(1)  3TH1 ( Asthama)

(2) m ( Brochitis)

(3) HIEEfRE (Colitis)

(4) FE (Arthritis)

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 53307218880 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
According to Samkhya Philosophy, Tushti s _ lo Yogic practices.
(1)  Sadhak
(2) Badhak
(3)  Phases of Yoga (Yoga avastha)
(4)  Accomplishments (Siddhiyan)
Options:
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 53307218880 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T <9 o ATHR qfeedl 40 iEEn | w6 © -

(1) Hi¥sh
(2) TR
(3) AT YT
4) fafsar
Options :
1.1
2.2

3.3



4.4

Question Number : 64 Question Id : 53307218881 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Number ol Shlokas in Mandukyopnishad.

(1) 8
(2)
(3) 12
4) 24
Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 53307218881 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HUgFITTug § Yl Tl TEI E -

(1) 8
(2) 11
(3) |12
4) 24
Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 53307218882 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Yoga Philosophy which of the following causes disturbances in one’s consciousness (chittavikshepa) 7

(1) Raga(Attachment)

(2)  Dvesh(Apathy)

(3)  Avirati (lack of renunciation)

(4)  Viparyay

Options :



1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 53307218882 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

41T g9 % IER faafadn w6 9 siE w9 €2

(1y O
2) &u
(3) sferfa
@4y Tagdg
Options :

1.1

2.2

3.3

4.4

Question Number : 66 Question Id : 53307218883 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According lo Yoga Philosophy which of the following sequences ol Animadi Ashta Sidhhis 1s correct ?
(I)  Laghima, Anima, Mahima, Garima

(2)  Anmima, Mahima, Laghima, Garima

(3)  Garima, Prapti, Prakramya, Vashitva

(4)  Mahima, Garima, Prapti, Vashitva

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 53307218883 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



1T g9 o ATER sforre srefafgdi o fe1 0 | = 91 %0 wel €7
(1) efem, o, wfewn, T

(2)  afore, wfgHn, e, T

(3) TR, Tiftd, geRrE, afge

(4)  HiEHI, T, 9, afee

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 53307218884 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Shrimad Bhagwad Gita, whichof the [ollowing sorts of [ood s liked by the person having the attribute
of Tamas ?

(
(2)  Very hot, stringent, Acidic

) Enhancing Age, Intelligence and strength

(3)  Bitler, sour, dry

(4)  Hall baked, devoid of Juice, leftover
Options:

1.1

2.2

3.3
4.4

Question Number : 67 Question Id : 53307218884 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FIHGHTTERTIG! o STTER T 0 § a0 &0 &1 47 | § B 91 9or g aa e ?
(1) g, 9 a9 9 &1 FeH ar
() g WY, TG, TRFEH

(3) e, Gg, T

(4) YR, TR, 3w
Options :

1.1

2.2



3.3
4.4

Question Number : 68 Question Id : 53307218885 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the [ollowing Upanishads tells about knowing both Sambhuti and Asambhuti together ?
(1)  Chhandogyopnishad

(2)  Ishavashyopnishad

(3)  Yogchudamanyupanishad

(4)  Dhyanbindopanishad

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 53307218885 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qrifa oiR srryfa SF1 1 T 19 S o fo for 3afog o e g ?
(1) BIEramYg

(2) SSTETEETIg

(3) ANTISHIGYE

4) FAfeguTg

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 53307218886 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following asanas helps in soothing sphincters in the digestive system and pushes the water having

drink towards the Anus ?
(1)  Naukisan

(2)  Bhunamandsan
(3)  Tadisan

(4)  Padmisan
Options :

1.1

2.2

3.3

4.4

Question Number : 69 Question Id
Correct Marks : 2 Wrong Marks : 0

: 53307218886 Question Type : MCQ Option Shuffling : No

ﬁﬁﬁﬁﬂ:ﬂmW‘Iﬁﬂﬁﬁf@ﬁﬁxﬁﬁﬂ(sminelﬁrs)ﬁWﬁﬁﬁﬁ@@ﬂﬁﬂ?{lﬁ

T At 7 &7
(1) AT
(2) YTHEA
(3) e
(4)  TeHHT
Options:
1.1

2.2

3.3
4.4

Question Number : 70 Question Id
Correct Marks : 2 Wrong Marks : 0

: 53307218887 Question Type : MCQ Option Shuffling : No

According to Ramayan, which of the following is not a part ol Navadha Bhakti ?

(1)  Singing (Gayan)
(2y  Contentment (Santosh)
(3)  Satsang

(4) Pidasevan

Options :
1.1



2.2
3.3
4.4

Question Number : 70 Question Id : 53307218887 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

THTIOT 3 STTER Tau sifad w1 S e T -

(1) "mEad
2) Ha™
(3) T
(4) URHIA
Options :

1.1

2.2

3.3

4.4

Question Number : 71 Question Id : 53307218888 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The practice of which of the following subtle exercise relieves [rom deteriorating intelligence, forgetting, disturbances
sceplicism elc. ?

(1)  Smaran Shakti Vikasak

(2)  Medha Shakti Vikasak

(3)  Buddhi tatha Dhritishakti Vikasak

(4)  Prayer (Prarthna)

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 53307218888 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fm e =M o ey & qfgur, famfa, fade, due anfe < g @ 9e €2
(1) B v foshas

() HYEIfH fowmes
3)  dfg 7o giqafe foermas
(4) W

Options :

1.1

2.2

3.3

4.4

Question Number : 72 Question Id : 53307218889 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Short processes thal receive and carry incoming action potential towards the cell body:.
(1)  Axon

(2)  Microglia

(3)

(4) Neurotransmitter

Dendrites

Options:
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 53307218889 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ll yiwa & o fa (cel hody) F1 W AR A FH A (Action Potential) T TE FH &
A T A T

(l) T
Q) R
(3) A
() g
Options :
1.1

2.2



3.3
4.4

Question Number : 73 Question Id : 53307218890 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Yoga Sutra, which of the [ollowing is the main cause of the Union of Drashta and Drishya ?
(1) Five virittis

(2)  Five kleshas

(3)  Five mahabhutas

(4)  Five Tanmatras

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 53307218890 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

21 3 G99 % HAN 1 G FRI A0 YA F FTER 18 ?
(1) degfaa

(2) HEFI

(3) W‘ﬁ

(4) G

Options :

1.1

2.2

3.3
4.4

Question Number : 74 Question Id : 53307218891 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



According to Vasishtha Samhita, 15 contemplation of outer space (Bahyakasha) with 1nner space
(Antarakash) in Heart ?

(1) Meditation (Dhyina)

(2)  Samadhi

(3)  Dhimi

(4)  Akash Gaman

Options :

1.1

2.2

3.3
4.4

Question Number : 74 Question Id : 53307218891 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TS Tfee F SFER 28 § S & 1Y SR 6 o e E -
(1) =AM

(2) HHITY
(3) =R
(4) AR THA
Options:

1.1

2.2

3.3

4.4

Question Number : 75 Question Id : 53307218892 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to whom, dream 1s the highway ol the unconscious :
(1)  Abraham Maslow
(2)  Swami Vivekananda

(3)  Swami Satyanand Saraswali

(4)  Freud
Options :

1.1

2.2

3.3



4.4

Question Number : 75 Question Id : 53307218892 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forerer 3TIER @ 3= 1 TSR © -
(1) 3omeq H&

2) =& faETS

(3) TETH TEHE= 9]

4) IS

Options :

1.1

2.2

3.3

4.4

Question Number : 76 Question Id : 53307218893 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Trishikobrahamanopnishad, absolute detachment towards body and sense organs s :

(1
(2
(3
(4

Yama

)

) Niyam
) Dhama
)

None ol the above

Options:
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 53307218893 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fforfasmeroimfrog & sar iR d sf=ai & ofa i Suma © -

L
2) T
(3) O

(4) JUUH H 9 FHIE e



Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 53307218894 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Yog Kundalyopnishad Sahita Kumbhak is -
(1)  Swryabhedan, Ujjayi, Sheetali, Shitkaari
(2)  Suryabhedan, Ujjayi, Sheelali, Bhastrika
(3)  Suryabhedan, Ujjayi, Shitkaari, Bhastrika
(4)  Suryabhedan, Ujjayi, Shitkaari, Bhramari
Options :
1.1
2.2

3.3
4.4

Question Number : 77 Question Id : 53307218894 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AMTE U9 % STTAR fed FH9F € -
(1) GIYEA, I, viiet, e
2) GId¥EA, v, diacr, v
(3) GAYSHA, IS, Wiaehrdl, Wi
(4) YA, SooTRl, SaET, T
Options :
1.1
2.2

3.3
4.4

Question Number : 78 Question Id : 53307218895 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following harmful foods (Apathya Ahar) 1s mentioned neither in Hathpradipika nor in Gherand
Samhita ?

(1)  Buttermilk

(2)  Kulath

(3) Hing

(4)  Jambira

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 53307218895 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1§ | F1 W e ARR BeYel e e BRUe Hied g | afvla & 8 7
(1) B

(2) oid
(3) @
(4) S
Options:
1.1

2.2

3.3

4.4

Question Number : 79 Question Id : 53307218896 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which of the patals of Shiv Samhita, Vayu has been mentioned ?
(1) First Patal

(2)  Second Patal

(3)  Third Patal

(4)  Fourth Patal

Options :
1.1
2.2
3.3



4.4

Question Number : 79 Question Id : 53307218896 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fora wifear % forg vea o arg =1 == F1 7E &2

(1) 999 92
2) fgdm 9ea
(3) g e
4) =q9 9ee
Options :

1.1

2.2

3.3

4.4

Question Number : 80 Question Id : 53307218897 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Gherand Samhita Rasanand Samadhi 1s related Lo -
(1) Yonimudra

(2)  Khechari mudra

(3)  Shambhavi mudra

(4)  Bhramr mudra

Options:
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 53307218897 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TRUT Hiear F TR e A %1 Ta9 € -

(1) & Ha
2) WEd "
(3) WY Hal

(4) 9 &



Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 53307218898 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The disease related to hallucination is called -
(1)  Stress

(2)  Depression

(3)  Vatadosha borne kind of Frenzy (unmad)

(4) Insomnia

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 53307218898 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

yifageiA § graf-<ra IFT samEm T4 © |
(1) <

(2) HAIHIS

(3) e S SHIE foy

(4) &A=

Options :

1.1

2.2

3.3

4.4

Question Number : 82 Question Id : 53307218899 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Trividham Narakasyedam Dwaram Nashnamatmanah Kamah Krodhstatha Lobhastasmadettryam Tyajet Il Identily
he chapter and number of this Shloka :

(1) Bhagwadgita6.12

(2) Bhagwadgita 16.13

(3) Bhagwadgita 18.4

(4) Bhagwadgita7.14

Options :

1.1

2.2

3.3
4.4

Question Number : 82 Question Id : 53307218899 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ey e g AIEHTEH: |

FH: ST ATV aAd oo | |
39 YAl 1 A TS G 9T |
(1)  SATESI 6.12

(2) TS 16.13

(3) WS 18.4

(4) TSI 7.14

Options:
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 53307218900 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

*Asanen Rujam Hanti® pertains to
(1)  Samadhi

(2)  Recovery Irom disease

(3)  Concentration and Stability
(4)  Physical strength

Options :



1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 53307218900 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST Fl i o G © -
(1) FHIY

2) I HHiE

(3) UShIAl U fEere

4) VR g
Options :

1.1

2.2

3.3

4.4

Question Number : 84 Question Id : 53307218901 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

During Yoga Nidra the physical points ol the body become :
(1)  Extroverl (Bahirmukhi)

(2)  Introvert (Antarmukhi)

(3) Six laced (Shadmukhi)

(4)  Onented (Unmukhi)

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 53307218901 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



i 921 % €0 =afed 3 SRR o oifas = 8 9 € -
(1) =fedsEt

2) FFHE!

(3) weqEl

4) I

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 53307218902 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The hormone released from Hypothalamus 1s :
(1)  Growth Hormone (GH)
(2) Adrenocorticotrophic Hormone (ACTH)
(3)  Corticotrophic releasing hormone (CRH)
(4)  Luteinising hormone (LH)

Options :

1.1

2.2

3.3
4.4

Question Number : 85 Question Id : 53307218902 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BTN S Hferd B € -

(1)  Growth Hormone (GH) (1% gMHA)

(2)  Adrnocorticotrophic Hormone (ACTH) (@Tﬁﬁéﬂ'ﬁﬁm THA)

(3)  Corticotrophic releasing hormone (CRH) (Hﬁﬁ%’ﬁﬂﬁﬁﬁ T gmi)
(4)  Lutenising hormone (LH) (@gfeasfsm g )

Options :
1.1
2.2
3.3



4.4

Question Number : 86 Question Id : 53307218903 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which Pranayam, during breathing obstruction is created in inhalation and exhalation ?
(1)  Nadishodhan Pranayam

(2)  LayaPranayim

(3)  Bhramari Pranayam

(4)  VilomaPranayam
Options :

1.1

2.2

3.3
4.4

Question Number : 86 Question Id : 53307218903 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forg womraT H vewA % SN v 3 yvaig H ey 39 fHa S e ?
(1) TESeNeE qIomam

(2y Y HUMTEGH
(3) YT 9T
4) faaw gromem
Options:

1.1

2.2

3.3

4.4

Question Number : 87 Question Id : 53307218904 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

With reference to Shatachakra Nirupan scripture, Sahastir Chakrd is situated at the peak of which Nadi ?
(1) lda

(2)  Pingala

(3)  Sushumna

(4)  Shankhini

Options :



1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 53307218904 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

weag e 7Y o favm gey o geer 9% feg TSt & fmet  fem §7

() ==
2) fgmen
(3) guEl
4) it
Options :

1.1

2.2

3.3

4.4

Question Number : 88 Question Id : 53307218905 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which ol the lollowing 1s not the Physical symptoms ol menopause ?

(1)  Hol lNushes
(2)  Vaginal Atrophy
(3) [rritability
(4)  Night Blindness
Options :

1.1

2.2

3.3

4.4

Question Number : 88 Question Id
Correct Marks : 2 Wrong Marks : 0

: 53307218905 Question Type : MCQ Option Shuffling : No



=1 8 3 =9 o wEhfgfa & s @ 98 § 2

(1) % &9

2) AifF eTgeed
3) fasfasrm
4) T
Options :

1.1

2.2

3.3

4.4

Question Number : 89 Question Id : 53307218906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Allergic rhinitis also known as :
(1) Bronchitis

(2) Hay Ever

(3) COPD

(4) CAD

Options:
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 53307218906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ToSiS g TENG R FHAWY o S S S
(1) sifehrsfed

(2) 9IS 9 (Hay Fever)

(3) HisTdE (COPD)

(4) HITEt (CAD)
Options :
1.1
2.2

3.3



4.4

Question Number : 90 Question Id : 53307218907 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which type ol disease 1s Rheumatoid Arthritis ?
(1)  Degenerative Disease

(2)  Inflammatory and Autoimmune Disease
(3) Inlectious Disease

(4) Renal Disease

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 53307218907 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
F\ﬁiﬂﬂg Tf-ereme (Rheumatoid Arthritis) g YR =h1 TM %?
(1) SAISHEE AT
(2) WS EEHidar I
(3)  TehTHe T
4) FFRF I
Options:
1.1
2.2

3.3
4.4

Question Number : 91 Question Id : 53307218908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The correct order ol the bones Irom lop Lo boltom in human body 1s :
(A) Fibula

(B) Mandible

(C) Patella

(D)  Sphenoid

(E) Hyod

Choose the comrect answer [rom the options given below :
(1) (B), (D), (E). (C). (A)

(2) (D), (B), (E), (C), (A)

(3) (D), (B), (E), (A), (C)

(4)  (B), (E), (D), (A), (C)

Options:

1.1

2.2

3.3
4.4

Question Number : 91 Question Id : 53307218908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HHS IR § S0 § e o7 1 %9 § -

(A) Fibula ( Tee)

(B) Mandible (Hfgad)

(C) Patella (IeT)

(D)  Sphenoid (TFIRE)

(E) Hyoid (3IEE)

= feu o foepedi # 9 W& I 1 TG4 Hife:
()  (B), (D), (B), (C), (A)

2) (D). (B), (B), (C), (A)

(3) (D). (B), (B), (A), (C)

(4)  (B), (E), (D), (A), (C)

Options:
1.1
2.2
3.3



4.4

Question Number : 92 Question Id : 53307218909 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Need-heirchy model, arrange the following in bottom Lo top order.
(A) Need ol Salety

(B)  Physical Need

(C) Need lor sell attainment ( Atmasiddhi)

(D)  Need to get membership and affection

(E) Need lor respect

Choose the correct answer [rom the optlions given below :
(1)  (A), (E), (B), (D), (C)

(2) (B), (C), (D), (E), (A)

(3) (B), (D), (A), (E), (C)

(4)  (B), (A), (D), (E), (C)

Options :

1.1

2.2

3.3
4.4

Question Number : 92 Question Id : 53307218909 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST -USTTRY WIed § 7 sTevashaisil 1 $TuR 9 9 & %9 ¥ Fa5d -
(A) HUET I eI

(B) VIR sravas

(C) 3TeA fafg =1 sfervae

(D) HEEl AYal T YA Fl SAEvae

(F) TWM & STaedal

A feu e foredi § 9 WE ST 1 999 Fifore

(1) (A), (E)., (B), (D), (C)

2) (B, (C), (D), (B, (A)

(3)  (B), (D), (A), (E}- (C)
(4)  (B), (A), (D), (E), (C)



Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 53307218910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Siddhasiddhant Paddhati text arrange the body bases (Adhar) in order of bottom to top
(A) Tilvadhire

(B)  Ghantikadhare

(C)  Oudyéanadhar

(D)  Hridayadhar

(E) Nabhyadhar

Choose the correct answer from the options given below :
(1) (C), (E), D), (B), (A)

(2)  (A), (B), (C), D), (E)

3) (), D), (B), (A), (B)

4 @), (C), D), (E), (A)
Options :

1.1

2.2

3.3
4.4

Question Number : 93 Question Id : 53307218910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fagfagr Tsfd 19 & STER T S09R &1 99 ¥ W & %9 ° fafgu
(A) TTEAHR

(B) HfUeeRTa

(C) FMMHR

(D) TEAER

(E) I9aER

A feu U fosedl # | W& TR Al 999 S ;
() (), (B), (D), (B), (A)
(2) (A (B), (C), (D), (E)
(3) (C (D), ( ), (B)
(4) % (C) (D), lE}( )
Options :

1.1

2.2

3.3

4.4

Question Number : 94 Question Id : 53307218911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the yoga practices used in yoga therapy in relation to the body [rom top to bottom
(A) Kapalrandhra Dhauti

(B) Dantamool Dhaut

(C)  Sheetkram Kapilbhiti

(D) Basti

(E)  Agnisir

Choose the correct answer [rom the options given below :

(1) (A), (B), (C), (D), (E)
(2)  (B), (C), (D), (A), (E)
3)  (A), (B), (C), (E), (D)
4)  (B), (D), (A), (C), (E)
Options

1.1

2.2



4.4

Question Number : 94 Question Id : 53307218911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Affere & W 21 el Al & i w5 gfe & Tw g A= # o fafan
(A) FIERY A

(B) T Hifd

(C) YishH et

D) 9

() #fER

A fou e foeredi H | W& R 1 o7 FIC
(1) (A), (B), (C), D), (E)
(2)  (B),(C), (D), (A), (E)
(3)  (A). (B). (C), (E), (D)
4  B). (D), (A) (), (E)
Options :

1.1

2.2

3.3
4.4

Question Number : 95 Question Id : 53307218912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Gherand Samhita, the correct order of the [eatures of the diet ol a yogi :
(A)  Oily (Snigdha)

(B) Favourite (Priya)

(C) Hall cooked (Laghupik)

(D) Appealing (Manonokul)

(E)  Nourishing (Dhatuposhak)

Choose the correct answer [rom the options given below :
(1) (A), (B), (E), (D), (C)

(2)  (A), (D), (C), (B), (E)

(3) (C), (B), (A), (E), (D)

) (B), (A), (C), D), (E)



Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 53307218912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

*ug Hied & SER ArT % e i gt o e we § -

(A) Tey
(B) fu=

(C) TR
(D) FATEA
(B) HIqdreh

= feu TTu foredl § | W@ ST 1 = T
(1) (A), (B), (E), (D), (C)
(2)  (A), (D), (C), (B), (E)
(3)  (C), (B), (A), (E), (D)
(4) (B), (A), (C), (D), (E)
Options :
1.1
2.2

3.3
4.4

Question Number : 96 Question Id : 53307218913 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The normal order of the Lesson-plan as delined by Kaiwalyadham Lonawala.
(A) Beginning ol lesson

(B)  Beginning ol the Activity (kriya-vidhi)

(C) Verbal introduction of the Exercise

(D)  Partial and full presentation

(E) Individual and collective exercise

Choose the correct answer from the options given below :
(1) (A), (C), (B). (D), (E)

(2)  (A), (B), (C), (E), (D)

(3)  (A), (B), (C), (D), (E)

4)  (A), (B), (B), (C), (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 96 Question Id : 53307218913 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Feeaurg et g fAifa are-em = A e -
(A) IS H TR

(B) T fafer =1 sy

(C) 19r9 =1 HifEes ufi=

(D) iR &R gof ®9 ¥ v

(E) AfgRTd 3R §He 19

= feu 7o foeredi § | W& SO &1 =44 Fife

(1) (A), (C), (B), (D), (E)
(2) (A), (B), (C), (E), (D)
(3)  (A), (B), (C), (D), (E)
(4) (A), (B), (BE), (C), (D)

Options :

1.1

2.2

3.3



4.4

Question Number : 97 Question Id : 53307218914 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Gherand Samhita choose the correct order of Yoga practices from the following :
(A) Uddiyan Bandha

(B) Nabhomudra

(C)  Jalandhar Bandha

(D)  Mahi bandha

(E) Mool bandha

Choose the correct answer from the oplions given below :
(1) ~ B), (A), (C), D), (E)

2) (B),(C) (A). D), (E)

3)  (A), (B), (C), (D), (E)

) (B), (A), (C), (E), (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 97 Question Id : 53307218914 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

0 Gfed & TR e At o1 we e g -
(A) BfgAH sy
(B) gl

(C) TloT=r 94
(D) HeWH
(E) W«

1< feu U foshedi § | Wal SO ol 999 BT
(1)  (B), (A), (C), (D), (E)
(2) (B), (C), (A), (D), (E)
(3)  (A), (B), (C). (D), (E)
(4) (B), (A), (C), (E), (D)



Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 53307218915 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to yogachudamanya upnishada Mahamudra treats the lollowing diseases respectively :
(A) Leprosy (Kushtha)

(B) Thicket (Gulma)

(C)  Tuberculosis (Kshaya)

(D) Gudavarta (Gudavart)

(E)  Indigestion (Ajirna)

Choose the correct answer [rom the options given below :
(1) (A). (B), (D), (C), (E)

2) (C), (B), (D), (A), (E)

(3)  (A), (C), (B), (E), (D)

4) (C), (A), (D), B), (E)
Options :

1.1

2.2

3.3
4.4

Question Number : 98 Question Id : 53307218915 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ITEMUIfE F 3TN Hergel & Frem & oo gfea wre €t € -
(A) %2
(B) TeH
(C) &4

D) TEEd
(E) STsiol
< fou U foemredl § | W ST 1 99 hif ;
(1)  (A). (B), (D), (C), (E)
(2)  (C), (B), (D), (A), (E)
(3) (A, (C), (B)., (E), (D)
(4) (C). (A), (D). (B), (E)
Options :
1.1
2.2

3.3
4.4

Question Number : 99 Question Id : 53307218916 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per the “Yagyavalkya Smriti’, arrange the restraint of senses in correct order
(A) Dhairya

(B) Lazza

(C) Asteya

(D)  Akrodh

(E)  Vivek

Choose the correct answer from the options given below :
(1) (A), (B), (C), (D), (E)
(2)  (B), (C), (D), (E), (A)
(3)  (©), (D), (B), (E), (A)
4) (C), (D), (E), (B), (A)
Options :

1.1

2.2
3.3



4.4

Question Number : 99 Question Id : 53307218916 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qacerfd: & ded | sf=di & 30 1 %4 fafau

(A) HF
(B) ol
(C) &>
(D) 3TRIY
(E) faoes

<1 feu T faekredi H | Wet STY 1 999 Hife
(L) (A), (B), (C), (D), (E)
(2) (B), (C), (D), (E). (A)
(3) (C), (D), (B). (E), (A)
(4) (C), (D). (E), (B), (A)
Options :
1.1
2.2

3.3
4.4

Question Number : 100 Question Id : 53307218917 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Nadhindupnishad, the correct order of the Kalayen of "Omkar’ is :
(A) VayuVegini

(B) Patangi

(C) Ghoshini

(D)  Vidyunmatra

(E) Namdheya

Choose the correct answer [rom the options given below :

(1)  (A), (B), (D), (C), (E)

2) (B), (A), (C), (D), (E)

(3) (D), (C), (B), (E), (A)

4) (), (D), (B), (A), (E)



Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 53307218917 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Trefargufeg % AR % HR & Femd HE: § -

(A)  =EATH
(B) UIgl
(C) Enfaofi
(D) Te=mE
(E) ATHEMET

= feu TTu foredl § | W@ ST 1 = T
(1) (A), (B), (D), (C), (E)
(2)  (B), (A), (C), (D), (E)
(3) (D), (C), (B), (E), (A)
(4) (C), (D), (B). (A), (E)
Options :
1.1
2.2

3.3
4.4

Question Number : 101 Question Id : 53307218918 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The correct order ol the practice ol Yoganidra is :

(A)  Awareness ol Breathing

(B) Revolving the consciousness Lo dillerent parts ol the body
(C) Resolution

(D) To leel and Sensitivity

(E) Preparing lor the practice

Choose the correct answer [rom the optlions given below :

(1) (E). (B), (C), (A), (D)
(2) (E), (C), (B), (A), (D)
(3) (E), (D), (B), (A), (C)
(4)  (C), (E) (B), (A), (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 101 Question Id : 53307218918 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TTHET & 279 1 el 0 © -

(A) aTH ol GSOTdl

(B) YRR % fafy= wmii | <re &1 S|

(C) Hehed

(D) YT FA F g

(B) 31419 & fow awr 2

= feu 7o foeredi § | W& SO &1 =44 Fife

(1) (E), (B), (C), (A), (D)
(2) (E), (C), (B), (A), (D)
(3) (E), (D), (B), (A), (C)
(4) (C), (E), (B), (A), (D)

Options :

1.1

2.2

3.3



4.4

Question Number : 102 Question Id : 53307218919 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The correct order of the virtues of a man born with divine properties (Daivi Sampada).
(A) Shaucha

(B) Te

(C) Kshama

(D)  Dhriti

(E)  Adroh

Choose the correct answer from the options given below :

(1) (B), (C), D), (E), (A)
2) (©), (DJ[ . (B), (E)
(3) (B).(C), (D), (A), (B)
(4) (D), [A} B), (C), (E)
Options :

1.1

2.2

3.3

4.4

Question Number : 102 Question Id : 53307218919 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<ot TEET I TR o9 g TEY ok S8l R T € -

(A) 9=
(B)
(C) &™
(D) e
(E) JE:

i< feu T foeredi # | Wel ST} 1 99 Hifeld ;
(1) (B), (C), (D), (E), (A)
2) (C), (D), (A), (B), (E)
(3) (B), (C), (D), (A), (E)
(4) (D), (A), (B). (C), (E)



Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 53307218920 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The correct order of the [ive types of stages :
(A) Swarupawastha

(B)  Sookshmawastha

(C) Sthoolawastha

(D)  Arthvatva-awastha

(E)  Anway-awastha

Choose the correct answer [rom the options given below :
(1) (C), (A), (E), (B), (D)

(2) (C), (A), (B), (E), (D)

(3)  (A), (C), (B), (D), (E)

(4) (B), (E), (D), (A), (C)

Options :

1.1

2.2

3.3
4.4

Question Number : 103 Question Id : 53307218920 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



U< YR o1 STaeenatl &1 9el @9 1 € 7

(A) HEEIEH
(B) HEHEE
(C) TcaraE
(D) - 3T

(E) ST=a-3aE=]]
e fou U foredl § 9 W& SO ol 949 FHife
(1) (C), (A), (E), (B), (D)
2) (C), (A), (B), (E), (D)
(3)  (A), (C), (B). (D), (E)
(4) (B), (E), (D), (A), (C)
Options :
1.1
2.2

3.3
4.4

Question Number : 104 Question Id : 53307218921 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Jain Philosophy, the parts of the ‘Aabhyantar Tapa’ in correct order is :

(A) Remorse (Prayaschit)

(B)  Sell-study (Swadhyiy)

(C)  Humility (Vinaya)

(D)  Vaiyavralya

(E)  Vyulsarg

Choose the correct answer [rom the options given below :

(1) (B), (C), (D), (E)
(2) ] (A), (C) lDJ (E)
(3) (A), (), (Dl (B), (E)
4) (B), (C), (A), (E). (D)
Options :

1.1

2.2
3.3



4.4

Question Number : 104 Question Id : 53307218921 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST 29 % STER AR a9 F T 9 T -

(A) TrEAfg=d
(B) 14
() far=
(D) ST

(B) e
<1 feu T faekredi H | Wet STY 1 999 Hife
(1)  (A), (B), (C), (D), (E)
(2)  (B), (A), (C), (D), (E)
(3) (A, (C), (D), (B), (E)
4) (B), (C), (A). (E), (D)
Options :
1.1
2.2

3.3
4.4

Question Number : 105 Question Id : 53307218922 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In Bhriguvalli of Taittirryopanishad, Dev Varun says that these all are the means of altaining Brahma, Arrange
them in correct order ?

(A) Prind

(B) Chakshu
(C) Anna
(D) Mana

) Shrota

Choose the correct answer from the options given below :
(1) (C), (A), (B), (E), (D)
(2) (A, B), (C), D), (E)
3)  (©), (B), (A), (D), (E)
@) @), (), (A), B), (E

(=3]

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 53307218922 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

At 1 et o &9 F€0 Fed & F 3 99 o 1 Wi & WA € 3% 0 A A |

(A) HT

(B) 4

(C) A

D) #1

() i

A feu m fomredi § @ W R F T FAC
(1) ()(HB} (E), (D)
2) (A). (B), (C), D), (
(3) ( (B), (A), (D),

) (D), (C) (A), (B
Options:

1.1

2.2



3.3
4.4

Question Number : 106 Question Id : 53307218923 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The external means of Gyana Yoga are :
(A) Shravana

(B) Viveka

(C) Vairagya

(D)  Mumukshutva

(E)  Nididhyasana

Choose the correct answer [rom the options given below :
(Iy  (A), (B), (C) Only

(2) (B), (C), (D) Only

(3)  (A), (C), (D) Only

(4) (B), (C), (D), (E} Only
Options :

1.1

2.2

3.3
4.4

Question Number : 106 Question Id : 53307218923 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AT ¥ afel 9ieE § -

(A) FE0]

(B) fao=
(C) T

D) TR
(E) TAfeeameq

e fou U foredl § 9 W& SO ol 949 FHife
(1) e (A), (B), (C)

(2) %Fd (B), (C), (D)

(3) wHEA (A), (), (D)

4) %= (B), (C), (D), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 53307218924 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Bahya Abhyantar and Stambh Vritti Pranayama, which of the [ollowing is/are correct 7
(A) Tt depends on the particular place

(B) It depends on the particular lime

(C) It depends on particular number

(D) It depends on the particular individual

(E) It depends on the particular circumstances

Choose the correct answer from the options given below :

(1) (A), (D), (C) Only

(2) (A), (B), (C) Only
(3) (0), (B), (D) Only
(4) (B), (D), (E) Only
Options :

1.1

2.2
3.3



4.4

Question Number : 107 Question Id : 53307218924 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Al 2eTer a9 Ty gfa oAy e feerfas & -+ w6 € 2
(A) T T v | AR g

(B) oe |v fovg @ fA 81

(€) e g fagy w fAk &

(D) &8 AT foeg | AW €

(B) ¥ uitfeafa fagm w fAR 21

i fou T fasedi H © W& 39 99 hifT

(1)
(2)
(3)
(4)

e (A), (D), (C)
%I (A). (B). (C)
Fad (C), (B), (D)
%9 (B), (D), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 53307218925 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The hormones released [rom Adrenal Cortex.
(A) Glucocorticoids

(B) Melatonin

(C) Gonadocorticoid

(D)  Prolactin

(E)  Mineralocorticoid

Choose the correct answer [rom the optlions given below :
(1)  (A), (C), (D) Only

(2) (B), (A), (D) Only

(3)  (A), (D), (E) Only

(4) (A), (C), (E) Only



Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 53307218925 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Adrenal Cortex © 3¢9+ 81 dTci €THM & -
(A) Glucocorticods (TeTehTeRIfEeRIEH )

(B) Melatonin (H&RIFAA)

(C) Gonadocorticoid (TTHEIHRITEHES)
(D) Prolactin (Ieia=A)

(E) Mineralocorticoid (THREARREIHEE)
= feu mu fawed § F W& ST F =94 Fifaw
(1) & (A), (C), (D)

(2) S (B), (A), (D)

(3) A (A), (D), (B)

4) FEE (A), (C), (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 53307218926 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘Ten Tyaktena Bhunjitha’ means :
(A) Penance (Tapa)

(B) Truth (Satya)

(C)  Aparigrah

(D) Mitvyayla

(E) Tyaga

Choose the correct answer [rom the optlions given below :
(1)  (A), (C), (D) Only

(2) (B), (D), (E) Only

(3) (C), (D), (E) Only

(4)  (B), (C), (D) Only
Options :

1.1

2.2

3.3
4.4

Question Number : 109 Question Id : 53307218926 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T A i 6 A © -
(A) 9

(B) HH

(C) eTafare

(D) THT=EE

(E) <M

A= feu 7o fasedi § 9 |E 3T F =TI FHIf9
(1) *ad (A), (C), (D)
(2) aa (B), (D), (E)
3) ad (C), (D), (B)
4) %a (B), (C), (D)

Options :
1.1
2.2



3.3
4.4

Question Number : 110 Question Id : 53307218927 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the [ollowing is/are the parts ol [ive-alflictions (Panch-Klesh) ?
(A) Prasupta

(B) Kshipt

(C)  Vicchinna

(D)  Udar

(E) Avidya

Choose the correct answer from Lhe options given below :
(1)  (A). (E), (B) Only

(2)  (B), (E). (C) Only

(3)  (A), (C), (D) Only

(4) (B), (C), (D) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 110 Question Id : 53307218927 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e o TEEna o frE 95 ¥ -

(A) Hg«
(B) fara
(C) Taf=e=
(D) F&N
(E)  3iferen

= feu 7o fasredi 7 | W& 3L okl =TI FifaT
(1) == (A), (B), (B)
2) 9 (B). (E), (C)
(3) wHEA (A), (), (D)
4) & (B), (). (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 53307218928 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The main characteristic ol Nauli 1s the development.

(A) Concentration

(B) The development ol sub atmospheric pressure inside the abdomen
(C) Maintaining acid base balance in the body

(D)  Abdominal organs - stomach and colon

(E)  Controlling the blood volume

Choose the correct answer [rom the options given below :
(1) (A) and (B) Only

(2) (B)and (C) Only

(3) (B) and (D) Only

(4) (D) and (E) Only
Options :

1.1

2.2
3.3



4.4

Question Number : 111 Question Id : 53307218928 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et =i g fadra e o fasm € -
(A) B
(B) 3 & Wia Y-S0 Sard o
(C) YRR ¥ 7% SR Hgad a1d T
(D) I F T Y2 R FHIeH
(E) Ta i AN &1 9o
e fou U foshedl § | Wal 3T 99 FifIu
(1) e (A) 2R (B)
2) k9A (B) F (C)
(3) FaA (B) 3R (D)
4) FEA (D) 3R (B)
Options :
1.1
2.2

3.3
4.4

Question Number : 112 Question Id : 53307218929 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Hath Pradeepika the practice included in Singhasana are :
(A) Moolbandh

(B) Jalandhar Bandh

(C) Uddiyan Bandh

(D)  Mahabandh

(E)  Shambhavi mudra

Choose the correct answer [rom the optlions given below :
(1) (A), (B), (E) Only

(2)  (A), (B), (C) Only

(3)  (A), (B), (D) Only

(4) (A), (C), (E) Only



Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 53307218929 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

geYaITIeh & TER fHere # wfmfea smamd € -

(A) Hewsi
(B) Se4T o4
(C) 3fgaH s
(D) Held~

(F) 9Teell 574

Ir= feu T faepedi § § Qe IO 1 999 Hife
(1) =ad (A), (B), (E)

2) *FF (A), (B). (C)

(3) HaA (A), (B), (D)
(4) IS (A), (C), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 53307218930 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



According to Yoga Vasishtha [ollowing process is adopted lor attaining Turivavastha :
(A) Manolaya

(B) Vichama

(C) PranNirodh

(D)  Strong feeling of unity (Ekatva)

(E)  Asansakti

Choose the correct answer from the options given below :
(1)  (A). (B), (C) Only

(2)  (A), (C), (E) Only

(3) (D), (B), (E) Only

(4)  (A), (C), (D) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 113 Question Id : 53307218930 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A IS F SRR TR W e o fore fe w1 ae feban ot
(A) TARH

(B) fe=mom

©) wm Ry

D) U@ Fl & W&l

(E) SHyiH

A4 fou o foshedl § 9 WE ST B TG Hifod ;
(1) %9 (A), (B). (C)

(2) = (A), (C), (B)

(3) %9 (D), (B), (B)

4) % (A), (C). (D)

Options :
1.1
2.2
3.3



4.4

Question Number : 114 Question Id : 53307218931 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The component ol 11l mental healths are :
(A) Happiness (Prasannta)

(B) Styana

(C) Satislaction (Santosh)

(D)  Pramada

(E) Daurmanasya

Choose the correct answer [rom the optlions given below :
(1) (B), (D), (E) Only

(2)  (A), (B), (C) Only

(3) (B), (C), (D) Only

(4) (D), (E), (A) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 114 Question Id : 53307218931 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e OHRTF TS & STF §

(A)  TE=Tal
(B) &AM
(C) Hdm™
(D) WHIE
(E) <=

A= feu 7o fasedi § 9 |E 3T F =TI FHIf9
(1) & (B), (D), (F)
2) FHFA (A), (B), (C)
3) FFA (B, (C), (D)
4) FFA (D), (B), (A)



Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 53307218932 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Asanis described in Y ogatatvopanishad are :
(A) Swastikasana

(B) Siddhasana

(C) Padmasana

(D)  Simhasana

(E) Ugrasana

Choose the correct answer [rom the options given below :
(1) (A), (B), (E) Only

(2) (B), (C), (D) Only

(3)  (B), (A), (D) Only

(4)  (A). (B), (C) Only

Options:

1.1

2.2

3.3
4.4

Question Number : 115 Question Id : 53307218932 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arracmfag o afofd srae € -

(A) EfETeREA
(B) TagrEd
(C) YHEA
(D) THerEA

(E) 3ur&H

(1) ad (A), (B), (B)
2) 9 (B). (C), (D)
(3) ad (B), (A), (D)
4) F9A (A), (B). (C)

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 53307218933 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which of the following Shlokas of Bhagwadgita we [ind description of [ood ?
(A) Chapter2/15

(B)  Chapter 6/13

(C) Chapter 6/17

(D)  Chapter 6/12

(E) Chapter 17/4

Choose the correct answer [rom the options given below :
(1) (A) and (B) Only

(2)  (B) and (C) Only

(3) (C) and (E) Only

(4) (D) and (E) Only

Options :

1.1

2.2
3.3



4.4

Question Number : 116 Question Id : 53307218933 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

diftrg spragriar & foFA-foFa velepl o omer grae faero fiear €2
(A) =AM 2/15

(B) 31AM 6/13

(C) SAHAME6/17

(D) =M 6/12

(E) 3141 17/4

e feu U foshedl § | Wa 39 997 Ty ;
(1) <had (A) 3R (B)

(2) & (B) 3R (C)

(3) A (C) AR (F)

(4) A (D) 3R (E)
Options :

1.1

2.2

3.3
4.4

Question Number : 117 Question Id : 53307218934 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What happened when Paschimmottanasanais practised like isometric exercise ?
(A) Heartrate decreases

(B) Heartrale increases

(C) Reduce the burden on the cardio respiratory syslem
(D)  Increase the burden on the cardio respiratory system
(E) Blood pressure decreases

Choose the correct answer from the options given below :
(1)  (B) and (D) Only

(2)  (A)and (B) Only

(3) (C) and (D) Only

(4) (D) and (E) Only



Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 53307218934 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W U= S SEEm e AW & w9 W e € e €2
(A) &3 TIfd W e B

(B) A T o ¢ |

(C) T2 ToIE YUl O% <ot oFH BT & |

(D) 73T YA JOmell W YR o0 ¢ |

(E) o= &9 el €|

9 few u faeredl §f § WE O & =T
(1) Fad (B) 37 (D)

2) A (A) 3R (B)

(3) %ad (C) 3R (D)

4) Fad (D) 3R (B)

Options :

1.1

2.2

3.3

4.4

Question Number : 118 Question Id : 53307218935 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



According to Yogatatvopnishad what happens with reciting pranav having Plutmaud ?
(A)  Deslruction of sins ol previous birth

(B)  Siddhiya are attained

(C) Kapalasuddhi

(D) Improves digestion

(E) efforts like a [rog

Choose the correct answer [rom the options given below :
(1) (B)and (C) Only

(2)  (A)and (E) Only

(3)  (A)and (B) Only

(4)  (C) and (D) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 118 Question Id : 53307218935 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ATACAafT9g & SR W 7 9 g YUE 1 99 A F B § -
(A) 9 S ok 9T o1 faeme

(B) fafsal e=a
(C) IS
(D) U dg

(E) WeF &l e 9w
A= fou 7o faspedi ¥ ¥ W& 39 1 =TI HIfU

(1) 3Fad (B) 3R (C)
(2) HIA (A) IR (E)
(3) Had (A) 3T (B)
4) FaA (C) R (D)

Options :

1.1

2.2

3.3



4.4

Question Number : 119 Question Id : 53307218936 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For Staunch Yoga Practitioner which kind ol [lood are suggested to be abandoned 7
(A)  Juicy lruits

(B) Spicy (Tez)

(C) Pudding (Madhur)

(D)  Sour food

(E) Panch shik

Choose the correct answer from the options given below :

(1) (A)and (B) Only
(2) (C) and (D) Only
(3) (B) and (D) Only
(4) (D) and (E) Only
Options :

1.1

2.2

3.3
4.4

Question Number : 119 Question Id : 53307218936 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

22 Armard & feu f5Fg WeRl T TR M 3 fou e T 8 2

(A) THIH Wl
(B) ==X (dd)
(C) TYX TR
(D) g 9
(E) U=a9Teh

A= feu 7o fasedi § 9 |E 3T F =TI FHIf9
(1) 9 (A) 3 (B)
(2) Fdd (C) R (D)
3) Fad B) R (D)
4) ¥ (D) 3R (B)



Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 53307218937 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Kathopnishad, Human achieves Parampada through the following :
(A)  Sanyam

(B) Pran-nirodh

(C) Guru-bhakti

(D)  Pavitrata

(E)  Yoga-nidra

Choose the correct answer [rom the options given below :
(1) (A) and (B) Only

(2) (B) and (C) Only

(3)  (A)and (D) Only

(4) (B) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 120 Question Id : 53307218937 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FIMMYE F AR 7T 71 T ZR WIS 1 9 FT € -

(A) HIH

(B) WU
(C) Eﬁ—qﬁﬁ
(D) afersa
(E) amfHg

i< fou T fashedl # | & I FUA FifaC
(1) Fad (A) 3 (B)
2) k9A (B) F (C)
(3) FAA (A) SR (D)
4) FEA (B) 3R (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 53307218938 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to yoga darshan lack of which of the lollowing causes lack of lust ?
(A)  Phal (Fruit)

(B) Hetu

(C) Viparyay

(D)  Ashraya

(E) Vikalp

Choose the correct answer [rom the options given below :
(1) (C), (E), (A) Only

(2)  (A), (B), (D) Only

(3) (C), (D), (E) Only

(4) (A), (B), (C) Only

Options :

1.1

2.2
3.3



4.4

Question Number : 121 Question Id : 53307218938 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A 9 % SFTER RT-Tohg % e B § e B ot ST 2 €2
(A) T

(B) &7

() Touad
(D) 93
() Tk
Al fou U foskedl ¥ | W@ SO 6 999 Hifd

(1) & (C), (), (A)
2) %ad (A), (B), (D)
(3) % (C), (D), (E)
4) FFd (A). (B), (C)

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 53307218939 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kinds ol Declarative memory are :
(A) Epsodic Memory

(B) Iconic Memory

(C) Echoic Memory

(D)  Semantic Memory

(E)  Shorl-term Memory
Choose the correct answer [rom the optlions given below :
(1)  (A) and (D) Only

(2)  (A)and (B) Only

(3)  (A)and (C) Only

(4) (D) and (E) Only



Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 53307218939 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HYUTCHeR (Declarative) Pf[ﬁf F UFR % s

(A) WElTR P{ﬁ[ (Episodic Memory)

(B) el F‘jﬁf (Iconic Memory)

(C) P{FFT gfaeafaa (Echoic Memory)

(D) AAfma Pﬂﬁf (Semantic Memory)

(E) o-ShTeit™ Fqfd (Short-term Memory)
A< fou 7 fasredi § | @ ST = =97 Hi
(1) e (A) 3R (D)

(2) A (A) AR (B)

(3) FFA (A) FR(C)

4) e (D) 3 (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 53307218940 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



According to Hathpradeepika, Ujjayi Kumbhak is useful in :
(A) For disorder ol Kapha

(B) For disorder ol Vata

(C) For disorder ol Dhitu

(D)  For Apetite (Kshudha)

(E) For disorder ol Pitta

Choose the correct answer [rom the optlions given below :
(1) (B) and (D) Only

(2) (C) and (E) Only

(3)  (A)and (C) Only

(4)  (A)and (D) Only
Options :

1.1

2.2

3.3
4.4

Question Number : 123 Question Id : 53307218940 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TOUSITIeRT & STTER IS FE9F ST #
(A) FFAY Tq

(B) dded &d

(C) HIgam &g

D) &=

(B) foeemeq

= feu 7o foeredi § | W& SO &1 =44 Fife
(1) Fad (B) 3R (D)
(2) FFA (C) R (E)
(3) T (A) IR (C)
(4) FAA (A) (D)

Options :
1.1
2.2
3.3



4.4

Question Number : 124 Question Id : 53307218941 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The treatment as advised by Swami Kuwalayanand lor holistic health.
(A) Prevention [rom inlections

(B)  Using the proper medicines

(C) Formulating the right Psychological view point

(D)  Emphasis on healthy lood

(E) Resorting to modern medicine system

Choose the correct answer [rom the optlions given below :
(1)  (A) and (B) Only

(2) (C) and (D) Only

(3) (D) and (E) Only

(4) (E) and (A) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 124 Question Id : 53307218941 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W Faerar< St = YUl T 9 F1A 6 fu 1 3 §ard § 2
(A) HHAT H F=91d FAT

(B) YHEEE 1 9EAT

(C) 3 A gfteshor o fmfo

(D) &R YeH &1 I 3R T S

(B) snyfrer Taferen ggfadl =1 @em e

= fou o foeredi § | W& SO %1 999 Hife
(1) o= (A) 3R (B)

2) FFd (C) 3R (D)

(3) e (D) 3R (B)

4) FA (EB) 2R (A)




Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 53307218942 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the lollowing do/does not come under Shatsampatti ?
(A) Titiksha (Endurance)

(B)  Shraddha (Faith)

(C) Vivek (Prudence)

(D)  Samadhéin (Solution)

(E) Vairagya

Choose the correct answer [rom the options given below :
(1)  (A)and (B) Only

(2)  (C) and (A) Only

(3) (B) and (D) Only

(4) (C)and (E) Only
Options:

1.1

2.2

3.3
4.4

Question Number : 125 Question Id : 53307218942 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Y o T el 3 ¢
(A) fadten

(B) &&Hl

() fas=

(D) THYH

(E) oY

e fou U foredl § 9 W& SO ol 949 FHife
(1) Fad (A) 3 (B)

2) KA (C) HAR (A)

(3) Fad (B) 3R (D)

4) ¥ (C) 3R (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 53307218943 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - 11
(Posture of Surya Namaskar) (Meditation of Chakra)
(A) Padhastassan (I)  Manipur Chakra
(B)  Ashwasanchilan (IT)  Vishuddhi Chakra
(C) Parvatisan (TTT) Swadhishthan Chakra
(D)  Ashtinga Namaskar (IV) Ajna Chakra

Choose the cormrect answer [rom the oplions given below :
(1) (A)-), (B)-(II), (C)-(III), (D)-(IV)
(2)  (A)-(II), (B)-(I), (C)-(I), (D)}-(IV)
(3)  (A)-(I), (B)-(IV), (C)-(D), (D)-(T)
(4)  (A)-(II), (B)-(IV), (C)-(I), (D)-(ID)

Options:
1.1



2.2
3.3
4.4

Question Number : 126 Question Id : 53307218943 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 § Eii-11 =1 e i
Teii-1 11
(gareeRTT i fearf (¥Teh TY &A1)
(A) IEEETEd M) WYL <%k
(B) AT HHA an fauls =%
(C) TelarEd (IT1) TS <%
(D) =T THERR (IV) T =k

= feu 7q foepedi # € W& IR F1 9949 HIT
(1)  (A)-(I), (B)-(IT), (C)-(IIT}, (D)-(TV)
(2)  (A)-(IID), (B)-(IT), (C)-(I), (D)-(IV)
(3)  (A)-(IID), (B)-(IV). (C)-(ID). (D)-(T)
(4)  (A)-(IID), (B)-(IV), (C)-(I), (D)-(I)
Options:
1.1
2.2

3.3
4.4

Question Number : 127 Question Id : 53307218944 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Maltch List - I with List - I In the specific context of Shiv Sambhita.

List - I List - 11
(Name of Yoga practice) (Description of Effect)
(A) Mahimudra (I)  Penetration ol Brahmagranthi
(B) Mahdbandha (IT)  Gets devoid ol idleness
(C) Mahabedha (IM) Kashiyas being burnt
(D)  Khechar (IV) The dilferent rasas [Tow towards murdha

Choose the correct answer [rom the options given below :
(1) (A)-(IID), (B)-(IV), (C)-(I), (D)-(II)

(2)  (A)-(D), B)-(ID), (C)-(IIT), (D)-(IV)

(3)  (A)-(IIn), (B)-I), (C}-(T), (D}-(IV)

4 (A)-(D), (B)-(II), (C}-T), (D}-(IV)

Options :

1.1

2.2

3.3
4.4

Question Number : 127 Question Id : 53307218944 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i1 9 geit-11 forer wfe o ferom w9 o goferm #ifsm |
eI TEt-I1
(@rmaTe & ) (urelt st &)
(A) TR (I) ST 9
(B) T (1) ST e & €
(C) WeEH (1) a1 58 & ST
D) B (1v) fafes @ yafen e 7ef 1 o o §
A fou U fasedi § ¥ Wel 3T 1 T o ;

(1) (A)-I), B)-aV), (C)-I), (D)-(I)
(2)  (A)-(I), (B)-(II), (C)-(IIT), (D)-(IV)
(3)  (A)-(I), B)-(D), (C}-(), (D}HIV)
(4)  (A)-(ID), (B)-(IID), (C)-(T), (D)-(IV)

Options:



1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 53307218945 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL According to the chronology ol birth.

List - I List - II
(A) Swami Shivanand (T) 1893
(B)  Shri Aurobindo (IT) 1863
(C) Paramhans Yoganand (TIT) 1887
(D)  Swami Vivekanand Iv) 1872

Choose the comrect answer [rom the options given below :
(1) (A)-(II), (B)-(IV), (C)-(IIT), (D)-(I)

(2)  (A)-(I). (B)-(IV), (C)-(II), (D)-(TIT)

(3)  (A)-(IID), (B)-(IT), (C)-(I), (D)-(IV)

(4)  (A)-(III), (B)-(IV), (C)-(I), (D)-(II)

Options :

1.1

2.2

3.3
4.4

Question Number : 128 Question Id : 53307218945 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



-1 9 GEi-11 5799 o a9iar Gafed it |

-1 -1
(A) @ frEme M 1893
(B) 4 aifa=< (I) 1863
(C) THEH IANTH= (I11) 1887
(D) T faaswm=< Iv) 1872

4= feu o fasedi O 9 W 3 1 99 Fife
(1) (A)-(II), (B)-(IV), (C)-(III), (D)-(I)
2)  (A)-M, B)-(IV), (C)-(I), (D)-(III)
(3)  (A)-(ID), (B)-(I), (C)-(I), (D)-(IV)
(4)  (A)-(III), (B)-IV), (C)-(I), (D)-(II)
Options :
1.1
2.2

3.3
4.4

Question Number : 129 Question Id : 53307218946 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - T with List - II. According to the names ol chapters

List - I List - II
(A)  Mumukshu Prakaran (T) First part
(B)  Utpatti Prakaran (IT)  Second part
(C) Vairagya Prakaran (ITT) Filth part
(D)  Upsham Prakaran (IV) Third part

Choose the comrect answer [rom the options given below :
(1) (A)-(II), (B)-(IV), (C)-(I), (D)-(I1I)

(2)  (A)-(ID), (B)-(IV), (C)-(IIT), (D)-(I)

(3)  (A)-(I), (B)-(II), (C)-(IIT), (D)-(IV)

4)  (A)-), (B)-(IV), (C)-(III), (D)-(II)

Options:

1.1

2.2
3.3



4.4

Question Number : 129 Question Id : 53307218946 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Teli-1 § GEit-11 AAm1 % AW & S8R gaferd sHifs )

-1 -1
(A) HHY T (I) HEH YT
(B) Scfed Wep{ul (I) @i 9
(C) S Yl (IT1) T=H 9rT
(D) SUIH R (IV) g 9m

A= feu v fasredi § 9 9 39 &1 994 Fife
(1) (A)-(ID), (B)-(IV), (C)-(I), (D)-(ITI)
2)  (A)-(ID), (B)-(IV), (C)-(IIT), (D)-(I)
(3)  (A)-(I), (B)~(ID), (C)-(III), (D)-(TV)
4)  (A)-(), B)-(TV), (C)~(TII), (D)-(TIy
Options :
1.1
2.2

3.3
4.4

Question Number : 130 Question Id : 53307218947 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - 1 List - II
(A) Process ol adjustment through works (I) Teacher
(B) Processregarding methods (IT} Teaching
(C) Directing processes (ITI)  Student
(D)  Adjusts itsell through works (IV) Learning

Choose the comrect answer [rom the options given below :
(1) (A)-(IV), (B)-(II), (C)-(I), (D)-(III)
(2)  (A)-(IV), (B)-(II), (C)-(III), (D)-(I)
(3)  (A)-(I), (B)-(II), (C)-(IIT), (D)-(IV)
(4)  (A)-(I), (B)-(TV), (C)-(I), (D)-(I1I)



Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 53307218947 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 § Geii-11 %1 e ki

Tl-1 THi-11
(A) T GR HHESH R (1)  ST&ATIHh
(B) faferdi dafm ufsan (I1) =199
(C) Wisha Fcfema &3 arme (1) =

(D) M ER1 @9 &I GUEfed a1 e (V) Ay
A feu g foeredi § 9 G@ ST 999 FIW
() (A)-0V), B)-(II), (C)-(T), (D)-(IID)
(2)  (A)-(IV), (B)-(ID), (C)-(IID), (D)-(I)
(3)  (A)-(I), (B)-(ID), (C)-(III), (D)-(IV)
4)  (A)-AD, (B)-(IV). (C)-(I), (D)-(II)
Options :
1.1
2.2

3.3
4.4

Question Number : 131 Question Id : 53307218948 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - I List - II
(Diseases) (Symptoms)
(A) Diabetes Mellitus (1) Inllammation ol glands
(B) Tonsillitis (IT)  Falling out of place
(C)  Arleriosclerosis (ITT) Disorder in metabolism ol sugar
(D)  Prolapse (IV) Degeneration ol blood vessels

Choose the correct answer from the options given below :
(1) (A)-(IID), (B)-(I), (C)-(II), (D)-(IV)

(2)  (A)-(II), (B)-(ID), (C)-(I), (D)-(IV)

(3)  (A)-(I), (B)-I), (C)-(IV), (D)-(II)

(4)  (A)-D, (B)-(ID), (C)-(II), (D)-(IV)

Options :

1.1

2.2

3.3
4.4

Question Number : 131 Question Id : 53307218948 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TEii-1 § Geii-11 %1 e ki

-1 -1

T (187
(A) SrEfEds Aoy @ Tt R g
(B) eifaaEfed 1) 399 e § fr s
(C) sRREEReRag (I11) YEFT & 3U9=4 T TTeas]
(D) WTH 1V) Yo Afcrset = g

= fou 7o fasedl § 9 W& 39 B T FHIfAQ
(1) (A)-(II), (B)-(I), (C)-(II), (D)-(IV)
(2)  (A)-(IID), (B)-(IT), (C)-(I), (D)-(IV)
(3)  (A)-(IID), (B)-(I), (C)-(IV), (D)-(II)
(4)  (A)-(I), (B)-(II), (C)-(III), (D)}-(IV)

Options:



1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 53307218949 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II. According to Vasishtha Sambhita.

List - I List - II
(A)  Air M 4
(B) Walter (I =
(C) Fire (Tez) I =
(D) Earth Iv) 4

Choose the comrect answer [rom the options given below :
(1)  (A)-(I), (B)-(IIT}, (C)-(IV), (D)-(II)

(2)  (A)-(IV), (B)-(ID), (C)-(IIT). (D)-(I)

(3)  (A)-(D, (B)-(IV), (C)~(IT), (D)-(III)

(4)  (A)-(III), (B)-(II), (C)-(IV), (D)-(I)

Options:

1.1

2.2

3.3
4.4

Question Number : 132 Question Id : 53307218949 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Gell-1 & -1 1 el IS sfge dfed & San gafaq s

geil-1 TeAl-11
(A) 99 (I 4
(B) ST (I) 1
(C) & I =
D) g (IV)
= fou v foskedi § § W& ST F F9H HIfC
(1) (A)-(I), (B)~(III), (C)-(IV), (D)~(II)
(2)  (A)-(IV), (B)-(IT), (C)-(TIT), (D)-(T)
(3)  (A)-(I). B)(IV), (C)-(II), (D)-(IIT)
@) (A)-(I). B)-(D), (O-@V), (D)-(I)
Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 53307218950 Question Type : MCQ Option Shuffling
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

(A)
(B)
(C)
(D)

Choose the cormrect answer [rom the options given below :

List - |

Chitta delving into spiritual upliftment

Detachment Towards sense organs
Love lor Parmatma Tatva

Indillerences towards objects

(1) (A)-ID), (B)-(D), (C)-(IV), (D)-(ITI)
(2)  (A)-(D, (B)-(IV), (C)-(I), (D)-(IIT)
(3)  (A)-(II), (B)-(ID, (C)-(I), (D)-(IV)
(4)  (A)-(I), (B)-(II), (C)-(II), (D)-(IV)
Options:

1.1

2.2

3.3

List - II
Niyama
Jnanyoga
Asana

Yama

:No



4.4

Question Number : 133 Question Id : 53307218950 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Teit-1 § Feit-11 §&l gafed s |
Tl-1 T-11
(A) Tac =1 sufoqek oA § farem () fEm
(B) 3=l % gfa a7y (1) S
(C) TRHIH @ § TR (1) 3TEA
(D) S H 3T 96 (IV) a9

A feu T ferredl ® | W& ST Al =91 il
(1) (A)-(ID, (B}-(D), (C)-(IV), (D)-(IIT)
(2)  (A)-(ID), (B)-(IV), (C)-(I), (D)-(I1I)
(3)  (A)-(IID), (B)-(II), (C)-(I). (D)-(IV)
(4) (A)-(I), (B)~(IID), (C)-(II), (D)-(IV)
Options :
1.1
2.2

3.3
4.4

Question Number : 134 Question Id : 53307218951 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - I List - II
(Vitamins) (Disease)
(A) Thiamin (T) Pelagra
(B) Niacin (II)  Dermatitis
(C) Biolin (TTI) Pernicious Anaemia
(D)  Cynocobalamin (IV) Beri beri

Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(II), (C)-(IV), (D)-(II)

(2)  (A)-(IV), (B)-(0), (C)-(I11), (D)-(1II)

(3)  (A)-(IV), (B)-(II), (C)-(I), (D)-(I1I)

(4)  (A)-(IV), (B)-(I), (C)-(II), (D)-(I1I)

Options:

1.1

2.2

3.3
4.4

Question Number : 134 Question Id : 53307218951 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Geit-1 § Feit-11 §el gaferd s |
Teil-1 Teit-11
(ferzfir) )
(A) 9EFmA M Y
(B) HAfET (1) EWeTEeH
(C) @It (1) WA= T
(D) TAHRIETHA IV) sH-si

=1 fou o fased o 9 WE 39 #9597 FTAU
(1) (A)-(I), BT, (C)~(IV), (D)~(IT)
2)  (A)-0V), B)-(D), (C)~II), (D)-(I1)
(3)  (A)-(IV), (B)-(ID), (C)-(T), (D)-(III)
(4) (A)-(TV), (B)-(I), (C)-(II), (D)-(III)

Options:



1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 53307218952 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - II
(Components) (Sub components)
(A) Fal (1) Triptophan
(B) Monosaccharide (II)  Sucrose
(C) Disaccharide (TTI) Fructose
(D) Protein (IV) Linolenic Acid

Choose the comrect answer [rom the options given below :
(1) (A)-(IV), (B)-(IIT), (C)-(II), (D)-(I)

(2)  (A)-(IV), (B)-(IT), (C)-(III), (D)-(I)

(3)  (A)-(I), (B)-(IIT), (C)~(1I), (D)-(IV)

(4)  (A)-(I), (B)-(II), (C)-(IV), (D)-(III)

Options:

1.1

2.2

3.3
4.4

Question Number : 135 Question Id : 53307218952 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Teit-1 § Feit-11 §&l gafed s |

-1 -1
(dZh) (SUHCH)
(A) I M =R
(B) WM HFESH () Gl
(C) =rE TFEeY (1) Wreherst
(D) WA av) fadrefer

=1 feu o fasred § | W& 39 & 994 FIAU
(1) (A)-(IV), (B)-(IIT), (C)-(II), (D)-(I)
(2)  (A)-(IV), (B)-(II), (C)-(III), (D)-(I)
(3) (A, (B)-(IID), (C)-(ID, (D)-(IV)
(4) (A)-(T), (B)-(II), (C)-(IV), (D)-(III)
Options :
1.1
2.2

3.3
4.4

Question Number : 136 Question Id : 53307218953 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Maitch List - I with List - IL

List - I List - 1I

(Sukti) (Name of the Scripture)
A) Mitaharaschasanam Cha Shaktichalak tritiya (I) ~ Shrimad Bhagwad Gita
B)  Bhujyate Shiv Samprityai Mitaharssa uchyate (IT) ~ Yoga Kundalyupnishad
D
Choose the comect answer [rom the options given below :
(1) (A)-(ID), (B)-(I), (C)-(I), (D)}-(IV)
(2)  (A)-(ID), (B)-(TID), (C-(IV), (D)-(I)
(3)  (A)-), B)-I0), (C)-(I), (D}-(IV)
(4)  (A)-(IV), (B)-(II), (C)-(III), (D)}-(T)

(A)
(B)
(C)  Bhujyate Sursampritya mitaram imam Viduh (TIT) Hathyogapradipika
(D) Yuktaharviharasya Yuktacheshtasya Karmasu (IV) Gheranda Samhita

Options:



1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 53307218953 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

TEil-1 ¥ -1 1 f7er Hifs;

(A)
(B)
(C)
(D)

Eil-1

@ferm
fHaeRYa T = vifdd aTerh gaia® |
I Ferersdied fHarer: 93 |
ﬂ@ﬁgmﬁ@ﬁﬁlﬁﬂﬁl’qﬁgl
JFeRITeN o e FHY |

-1

(T T W)
(I)  #img sreRTia
(I) 31 FUEeguug
(1)  ESATTHE AT
(IV) *RUg Hfed

A= fou T foered 8 9 WE SR T FE

(1)
(2)
(3)
(4)

(A)-(IT), (B)-(TIT), (C)-(I), (D)-(TV)
(A)-(ID), (B)-(IIT), (C)-(IV), (D)-(I)
(A)-(T), (B)-(II), (C)-(I1I), (D)-(IV)
(A)-(IV), (B)-(II), (C)-(IIT), (D)}-(I)

Options:

1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 53307218954 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - I List - II
(A) Vishesh (T) Intelligence (Buddhi)
(B) Lingmatra (IT1)  Ego (Ahankar)
(C)  Awishesh (TII) Mind (man)
(D)  Alinga (TV) Nature (Prakriti)

Choose the comrect answer [rom the options given below :
(1) (A)-(II), (B)-(IV), (C)-(I), (D)-(I1I)

(2)  (A)-(IID), (B)-(IV), (C)-(I), (D)-(II)

(3)  (A)-(IV), (B)-(III), (C)-(I), (D)-(II)

(4)  (A)-I), (B)-1), (C)-(II), (D)-(IV)

Options :

1.1

2.2

3.3
4.4

Question Number : 137 Question Id : 53307218954 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 § Geii-11 %1 e ki

Teil-1 Teit-11
(A) feem O  9IE
(B) fermmar ) SEFR
(C) Afa9m (M) w4
(D) 3fe (IV) Wehid

w1 feu U fomredi # 9 9& 3T =F9H FE
(1) (A)-(I), (B)-(IV), (C)-(I), (D)-(III)
(2)  (A)-(ID), B)-AV), (C)-(I), (D)-(II)
(3)  (A)-(IV), (B)-(IIT), (C)-(I), (D)-(II)
(4)  (A)-(III), (B)-(d), (C)-(II), (D)-(IV)
Options:
1.1

2.2
3.3



4.4

Question Number : 138 Question Id : 53307218955 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - II
(A)  kenopanishad (I)  Shukla Yajurved
(B) Aitareya Upanishad (II)  Krishna Yajurvediya Shakha
(C) Kathopanishad (TII) Samvediya Shakha

(D)  Brihadaranyaka Upanishad (I'V) Shukla Rigvediya Shakha
Choose the correct answer [rom the options given below :

(1) (A)-(IID), (B)-(IV), (C)-(I), (D)-(II)

(2)  (A)-(IID), (B)-(IV), (C)-(II), (D)-(I)

(3)  (A)-(IV), (B)-(I), (C)}-(III), (D)-(T)

(4)  (A)-(D), (B)-(II), (C)-(IV), (D)-(I1I)

Options :

1.1

2.2

3.3
4.4

Question Number : 138 Question Id : 53307218955 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 e s
Teil-1 Teit-11
(A) HATEEE 1) YA T
(B) URH I9fug D) FH IAEE @
(C) Harfug (I11) \IHAEE I

(D) FESRUFRII IS (IV) Y& BTae vl
9 fou o fapedl § 9 9@ SW 1 =IE Fiie

(1) (A)-(IT), (B)-(IV), (C)-(1), (D)-(II)

2)  (A)-(1D), B)-AV), (C)-(I), (D)-(T)

(3)  (A)-(V), (B)-(II), (C)-(III), (D)-(T)

@) (A)-M), B)ID), (C)-AV), (D)D)



Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 53307218956 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - 11
(Concept) (Scripture)
(A) Concepl ol Trigunas (I)  Tattrayopanishad
(B) Concepl ol Panch Koshas (ITy  Yogvasishtha
(C) Concepl ol Panch Pranas (III) Sankhyakarika
(D) Conceptol Edhi—vyadhi (IV) Sidhasidhant Padhati

Choose the correct answer [rom the options given below :
(L) (A)-(IID), (B)-(IV), (C)-(I), (D)-(II)

(2)  (A)-(IV), (B)-(I). (C)~(IIT), (D)-(IT)

(3)  (A)-(IIT), (B)-(I), (C)-(IV), (D)-(II)

(4)  (A)-(IID), (B)-(II), (C)-(IV), (D)-(I)

Options:

1.1

2.2

3.3
4.4

Question Number : 139 Question Id : 53307218956 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Teit-1 § Feit-11 §&l gafed s |

-1 T-11

(JTATIUTT <hT ) (T <hT A1)
(A) Teoll =t sraEmom ) g
(B) T=HehIYl okl STGERON 1) ANTETS
(C) T==a9TUIl Sl TR (1) T HIEH

(D) A=A i STAROM av) TasfEsH 9sfd
e fou U fasredi H 9 W& I A = HIS
(1) (A)-(II). (B)-(IV), (C)-(I). (D)-(II)
(2)  (A)-(IV), (B)-(I), (C)-(III), (D)-(II)
(3)  (A)-(IIT), (B)-(I), (C)-(IV), (D)-(II)
(4)  (A)-(III), (B)-(ID), (C)-(IV), (D)~(I)
Options :
1.1
2.2

3.3
4.4

Question Number : 140 Question Id : 53307218957 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - II
(A)  Glucometer (T) Brain waves
(B) Sphygnomanometer (IT)  Diabetes
(C) EEG (IIT) Blood pressure
(D) ECG (TV) Heart beal

Choose the comrect answer [rom the options given below :
(1)  (A)-(II), (B)-(IIT), (C)-(IV), (D)-(I)

(2)  (A)-(D), (B)-(IV), (C)-(1), (D)-(I1D)

(3)  (A)-(II), (B)-(IIT), (C)-(I), (D)-(IV)

(4)  (A)-(ID), B)-I), (C)-(I), (D)-(IV)

Options:

1.1

2.2



3.3
4.4

Question Number : 140 Question Id : 53307218957 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Geii-1 ¥ Gt-11 =1 fHed sife;
Tl-1 gei-11
(A) TR (I) HiETsh &l a0
(B) THRETHMAN (I #YHe
(C) 33 (1) T =19
D) IS (IV) T84 Wi ggHA

99 feu e fasredi o 9 W ST % 9949 Fife
(1) (A)-(IT), (B)-(III), (C)-(IV), (D)-(I)
(23 (A)-(ID, (B)>-(TV), (CO)-(D), (D)-(I1I)
(3)  (A)-(D, (B)-(IID, (C(M, (D)-(IV)
(4)  (A)-(IID), (B)-(II), (C)-(I), (D}-(IV)
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2

Sub-Section Id : 533072741
Question Shuffling Allowed : No

Question Id : 53307218958 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



Read the passage carefully and answer the questions that follow :

The person (Jivatma) who has allributes (gunas), acts seeking resulls and consumes the [ruits of Karma perlormed
by him, he goes through the three routes while bearing different forms and the (hree attributes. The Jivatma who is master
the Pranas, goes through different form of species according (o his Karmas he undertakes. This soul .2 Jivatma has the
quantum of Angushtha only, he is enlightened like the sun and cherishes intelligence alongwith Determination and ego.
He 15 as subtle as the tip of the saw, having existence different from the Parmétma. The quantum of Jiva is the hundreth
part of the hundredth part of the tip of a hair, his form is as suble as the imaginary part the subtlest part of the hair, but
this very soul is capable of expanding in infinite lorm. This Jivatma gets altached with the body he imbibes. As the body
get nourishment from food and water, so the soul derives its birth and expansion {rom determination, touch, vision and
altachment.

The Jivatma bears dilferent places and different bodies according (o the Karmas undertaken by him. Jivatma
assumes Gross, subtle and many forms ol life according lo his interal atlributes. In this vast world, Jivalma gets :
redemption from all sorts of bandages alter he attains knowledge of the supreme soul who 1s eternal, infinite, creator of
the world, having many forms alone pervades the entire world with own existence.

Sub questions

Question Number : 141 Question Id : 53307218959 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Our body gets nourishment from ;
(1)  Food and water (Anna-Jala)
(2)  Touch (Sparsh)

(3) Karma

(4)  Determination (Sankalpa)

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 53307218960 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following has existence dilferent [rom God ?
(1) Body (Sharir)

(2)  Determination ( Sankalpa)

(3)  Attachment (Moha)

(4)  Jivalma

Options :
1.1



2.2
3.3
4.4

Question Number : 143 Question Id : 53307218961 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The imaginary lorm ol Jivatma is equivalent to :
(1)  Hundredth part ol a hair

(2)  Ten thousandth part of a hair

(3)  One thousandth part ol a hair

(4) One thousand one hundredth part ol a hair

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 53307218962 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the cause of Jivatma’s assuming different bodies ?
(1) Karma

(2)  Vision (Drishti)

(3)  Touch (Sparsha)

(4) All ol the above

Options:
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 53307218963 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the lollowing has determination and ego 7
(1)  Supreme soul (Parmatma)

(2)  Mind (Mann)

(3)  Jivatma

(4)  All of the above



Options :
1.1
2.2
3.3
4.4

Question Id : 53307218958 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 53307218959 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IR R ®
(1) A
2) o9
3) Y

(4) HHcq
Options :

1.1

2.2

3.3



4.4

Question Number : 142 Question Id : 53307218960 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

wrem | = sifeae aren ® -
(1) ¥R

2) HHH

3) e

(4) St

Options:

1.1

2.2

3.3

4.4

Question Number : 143 Question Id : 53307218961 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST 1 Shfeqd ey 9l § -
(1) &% 1009 fe=g

2) = F 10,0009 fe=A

3) 9 F 1,000 9 ey

4) 9FEAF 1,100 9 feed
Options :

1.1

2.2

3.3
4.4

Question Number : 144 Question Id : 53307218962 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SITSITEHT 3T 3TeTT- 376 T S0 ST Rl hT & —

(1) <A
2y 3w
(3) oy

(4) IqUE geft



Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 53307218963 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Gahed, STehR § Jad Bl © -

(1)  YUHIHI
(2) H4
(3) e
(4) SUUE gt
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 3
Sub-Section Id : 533072742
Question Shuffling Allowed : No

Question Id : 53307218964 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension



Read the passage carefully and answer the questions gives below :

The whole human race 1s going through a serious crisis of physical and mental health. With the scientific progress
the blind race and limelight of materialistic world has made the things worse

The basic subject of the nature and properties of the mind are not yel clear in the modern Psychology. In the yoga
Psycho-analysis the unconscious is the major fact. In this way many new [acts are emerging, which are thinking over it
in their own way. The materialistic thinkers have committed the mistake on accepting the mind as originated {rom the
non-living existence of brain.

As with the mind, even the personality remains deprived of the wholistic personality. Behaviourists define personahity
around the behaviour. The basic defect of Psychology is not accepting the existence of soul and being ignorant and
confused about the super conscious stage of mind. While yoga is opposite o L.

Psychology defines mental health mainly in form of psychological adjustment at a practical level. Yet as per ils
various criteria he/she who 1s not sick, 1s normal. According to various views the behaviour arised from the socially
invalid, painful and distorted knowledge is called abnormal. On the basis of Sat Raj and Tam Virtues normality and
abnormalily have been eventually viewed. ILis the beauty of yoga

The spiritual system of Indian Rishis that studies the human nature wholisticaly presents a preface in form of a
light of hope. As with the mind, in Indian thought process personality 1s considered wholistically. The focal point of
personaliy 1s the soul which is equivalent to Brahma. Due lo ignorance it considers itsell Timited (o the body and mind.

Sub questions

Question Number : 146 Question Id : 53307218965 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the main reason ol mental diseases in modern time ?
(1)  Physical tiredness

(2)  Mental latigue

(3) Limelight of materialism

(4)  Social challenges

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 53307218966 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



According to Yoga, what is the basis ol the nature ol mind ?
(1) Conscious

(2)  Unconscious

(3)  Subconscious

(4) Mind

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 53307218967 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the nature ol holistic personality in Yoga ?
(1)  Jeevatma

(2)  Paramatma

(3)  Vishwatma

(4) Soul

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 53307218968 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the Yogic concepl ol Mental health ?
(1) Earth - Waler - Fire

(2)  Vila- Pilta - Kapha

(3)  Sata- Raja- Tama

(4)  Shabd - Rasa - Gandha

Options :
1.1
2.2
3.3
4.4



Question Number : 150 Question Id : 53307218969 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the Central idea of Indian Thought ?

(1) Jeeva
(2)  Brahma
(3)  Prakriti
(4)  Purush
Options :
1.1

2.2

3.3

4.4

Question Id : 53307218964 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 53307218965 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

s T W WA U B YHE 0T 1 © 7
(1) YR oM

2) HAMEF ok

(3)  ifaerar & =R

(4) |HIfSER ATl

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 53307218966 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IR o STER T %l Tepia o1 STHR 341 © 7

(1) e
2) &=
(3) G
(4) HA
Options :

1.1

2.2

3.3

4.4

Question Number : 148 Question Id : 53307218967 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I H gHY Hfaae & WEY =1 © 7

(1) i
(2) ICHIH
(3) favarcH
(4) AT

Options :
1.1



2.2
3.3
4.4

Question Number : 149 Question Id : 53307218968 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

THGF T &1 AT ST 18 2
(1) Yeai-sfe-31fH
2) da-TIa-%%
(3) HI-IS-dH
(4) IeE-TH-TTY
Options :
1.1
2.2

3.3
4.4

Question Number : 150 Question Id : 53307218969 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qRerg e &1 = fag 2 2
(1)
(2)
(3)
4)

9444

Options:
1.1
2.2
3.3
4.4





